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LOGICAL REASONING

1. Find P and Q respectively.

A. . B. & C. ‘ D. Can'tbe predicted

4. In which of the following options, Shape (X) can be placed?

Shape (X)

A O O X X
A. /] G B. @éo C. ):] M D. 2 BF

5. 1t &P is called , .@fff is called G, @) is called @ @ is called ﬁ then

with which of the following would a person hear?

r L Y e
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COMPUTERS AND INFORMATION TECHNOLOGY

6. Qwerty is the most widely used keyboard layout in computing devices. Which among the
following does not support this layout?

7. The given image shows the use of computers in
A. Designing cars
B. Making animated movies
C. Launching missiles
D

Preparing bills

8. What would be displayed on the monitor screen, if you press | <*sun

s LI ! * | key when Caps Lock is Off?
| | 1

A. 3A<4 B. #a<$ C. 3a8% D. #A4

9. Unscramble the words given on left side and select the INCORRECT match.

A. YEKROADB ~ | am used for typing work.
B. ROTINOM - | look like a TV.

C. SPU - | help computer to think.
D. YOJICSTK - | help you to play games.

10. Given below are some features. Identify which features belong to human being and which
belong to computer?

1. Never makes any mistake on its own. 2. Does not need order.
3. Does not get angry or tired. 4, May forget stored information.
A. Computer -1 and 2 B. Computer -1 and 3
Human Being — 3 and 4 Human Being - 2 and 4
C. Computer-2 and 3 D, Computer - 2 and 4
Human Being - 1 and 4 Human Being - 1 and 3
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11. Working on data is called processing. Which part of computer works on data and is
located on system board?

-

— — e

12. Given below are some pictures numbered as 1, 2, 3 and 4. Rearrange them to indicate
the CORRECT order of steps for starting a computer.

N 2. T% 3, : T | [K

A. 12234 B. 223-4-1 C. 35412 D. 49515253

13. Observe the position of cursor in given snapshot. Pressing Delete key and then pressing
the Backspace key will display the text as

Monitlyor
A. Monitor B. Monit or C. Monior D. Monityr

14. Riya's teacher asked her to open a program to write the names of her family members,
friends and relatives. She performed the steps given below. Identify which of the following
options can replace the question mark(?) in the given steps.

Click on —+ All Programs — Accessories — 7

A "_q'-== B. "a C. ﬁ D. BothAandB
15. Which of the following mouse actions when | T

performed on ﬂ ican of Windows 7 will display || sesr bevemse smicimirm £:.0.8)

B Py * b Dl Bbd e [
the given window? T i L ‘
A. Left-click B. Right-click e v v ‘
| C. Double-click D. Drag and drop e S e

16. | have made cat face and ears in MS-Paint as shown in the given snapshot, Now, |
want to place cat's ears on its face. Which of the following tools shall | use?
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17.

Select the odd one out regarding the parts of computer.

=

18.

Marshmallow, Lollipop and KitKat are versions of

vy 4
A L B. dﬁa C. "'

D. BothAand B

19,

20.

Arrange the following in CORRECT order of IPO (Input-Process-output) cycle.

A 1-2-3 ‘

B. 1-3-2 |
C. 2-3-1

D, 213 ; 5 -

Computer is an advanced machine compared to a calculator because the computer

Can perform more complex mathematical calculations
Can perform logical operations

Has memory and can store large amount of data

All of these

=

21.

22.

Computers are used in offices to perform many tasks. Which of the following is a
disadvantage of using computers in offices?

A. Fast and accurate work B. Storing of large amount of information
C. Easy modification in stored data D. None of these

For which of the following purpose architects use computers?
A. Preparing building layouts B. Making toys
C. Issuing debit cards D. Updating passbooks

23.

Identify the following :
- It is a part of taskbar in Windows 7.
- It shows volume control button and current date and time in Windows 7.

A. Start menu B. System Tray C. Desktop button D. Status bar

..............................................................................
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24. Which of the following keys does not work in combination of another key?

A. ["‘“ i B. | {sun | C. E"'“" E D. ['L":.i
25. Match the following :
Column-| Column-II
(a) ‘ 1. Presence of it displays a pointer on screen
(b) g 2. Let you talk to the computer
(c) ‘ 3. Gives you a copy of everything shown on the monitor on a paper

A. (a1, (b)-2, (e)-3 B. (a)-2, (b)-1,(c)-3 C. (a)-1, (b)-3,(c)-2 D. (a)-2, (b)-3, (c)-1

26. Which of the following tasks CANNOT be done with the given part of computer?
A. Opening a program

Closing a program

Scrolling a page up/down

Supplying power to computer in case of power cut

ocow

27. Ashu and Naman were discussing about a feature of Windows 7 and they provided
following hints about it:

1. It let you search different programs.

2. ltis also used for putting computer on sleep mode.
3. It is available on taskbar.

Identify it.

k= i - .
A o B. N G, g D. *f

28. Sam has performed the following steps to draw rectangle in MS-Paint. Which of the
| following tools will be there in place of [7] in the given steps.

Step 1 : Select [7].
Step 2 : Point the mouse on drawing area.
Step 3 : Click and drag the mouse once to draw rectangle,

: A NS B. C. \ 0. /
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29. The bar appears on the top of MS-Paint window. It shows three control
buttons at its

A. Title bar, Right corner B. Status bar, Left corner
C. Ribbon, Left corner D. Scroll bar, Right corner

30. Computer is a smart machine that works on electricity. From the following, select the
one which also works on electricity.

=

P > — % i

31. A touchpad is a pointing device that can be used for moving the pointer appearing
on screen by moving finger on a flat surface. Which of the following device generally

incorporates a touchpad?
I! % g . E
L -

32. Eraser tool is used for correcting drawing mistakes in MS-Paint. It is also
used for replacing a color with another color by right clicking and dragging
the mouse on the desired area. Which color values should be set to replace
color of given shape outline with red color using Eraser tool?

.- \'

—

. W=

Color | Color ‘:ﬁ'ﬂ' Cﬂ*m * | Calor | Color * | Colat |{nlur
1 2 = 2 = 2

33. Given here is a grid that contains some words RIMITIAINIOIBIE] T

+ related to computer. How many such words
: can you find in the given grid? EJICIXIRIYILIOIM|S
SIM|OJA|WI]JE]|J]O|T|N
A 2 CIE|IS|T|Q|R|IT]C|M
B. 3 PITIL]I]|R|F]I]|H]I
£E | G| E |8 I NIN]|H|C

C. 5

TIRIE|S|Y]|]C|]G|N]O
D. 7 CIlAIP|T]|A | N|O|N
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34, Which of the following statements is CORRECT regarding the Command Button-1 and
Command Button-2 of MS-Paint?

Fie &t
[ el
Command Button-1 Command Button-2

A. Command Button-1 : Reverse the current selection and Command Button-2 : Selects the
entire drawing.

B. Command Button-1 : Changes the height and width of selected drawing and Gommand
Button-2 : Selects the entire drawing.

C. Both command buttons change the height and width of selected drawing.

D. Both command buttons select the entire drawing.

35. Which of the following statements is true if you want to type numbers 6457 with the
help of given set of number keys?

LTI TTEITTT]

A. {rmu kay should be pressed. B. | 4 snin kay should not be pressed.

|
- - —

]

C. You can only use the number row when the "::“ is ON and the | <* snin { key is pressed.

Mume |

D. You can only use the number row when the m' is Off.

SPACE FOR ROUGH WORK

l“SI STM

THE IMETITUTT OF
Leerviarion of

Iri GERDCEION Wit

of bndls TI5 H
FHELENTS

17 S0F INTERNATIONAL COMPANY 19 S0F INTERMATRONAL 16" SOF NATIONAL 197 SOF HATIONAL 1™ SOF INTERNATIOMAL T™ SOF INTERNATHONAL
SECRETARIES OLYMPIAD SPORTS KMOWLEDGE OLYMPLAD CYEER QLYMPIAD SOENCE OUYMPAD MATHEMATICS AYMPIAD ENGLISH OLYMMAD

Participate in World's Biggest Olympiads p Contact your SOF Olympiad Incharge Teacher / Principal Today!

For latest updates & information, please like Dﬂ] our Facebook page (www.facebook.com/sofworld) or register on
http:diwww.sofworld.org/subscribe-updates. htm

For Level 1 and Level 2 preparation material / sample papers, please log on to www.mtg.in

SOF

SCHNCE DLYMPIAD FOUNDATICN




MName:
Section Rall Mo,
Contact No,

Total Questions; 35 Time; 1 hr.

16™ SOF NATIONAL
CYBER OLYMPIAD

Guidelines for the Candidate

. Please check your Mame, Class and Section on the OMB sheet
provided 1o you. In case, OMRB sheet with your name is missing, please
fill in information about yoursell in the blank OMR sheet provided before
starl of axam.

Please fil in your % of marks/grade in last class ciearly on the
OMR Sheet and do not forget to sign it

. The Question Paper comprises threg sections:

Logical Reasoning (5 Cuestions), Computers and Information
Technology (25 Questions) and Achievers Section (5 Questions).

Each question in Achlevers Section camies 2 marks, whereas all other
questions carry ona mark each,

. Al guestions are compulsory. Thera 8 no negative marking. Use of
calculator is not permitted.

Thare is only ONE carrect answer. Choosa only OME option for an
ANSWEar,

. To mark your choice of answers by darkening the cirgles in the OMR
Shaet, use HB Pencil or Blue / Black ball point pen only. E.g.

« 16 means to hold down the left mouse button while you move
the mouse pointer Lo a new place.

Singlechck B Doubleclick C. Draggng Do Leftelick

Az he comect answer 8 option C. you must darken 16
the circie comesponding o aption G in the CMA Shest, | SONCE @|

7. Rough work should ba dona in the blank space provided In the bookiet,

8, Raturm the OMR Sheat 1o the invigilator at the end of the exam
9. Please fill In your personal details in space on top of this page before

attempliriy the paper,



1. Trishika celebrates her mother's birthday on the previous
day of second Thursday of February 20XX. On which
date will she celebrate her mother's birthday?

A. 10" February

Sun Mon Tue Wed Thu Fri Sat
Follar e P g e
7 8 . 8 10 11 12 13

B. 9" February 14 15 16 17 18 19 20
C. 11" February 21 22 23 24 26 26 27
D. 12" February 28 29

2. Find the missing numbers in the given series.

5. If @ is called T, T is called Q and Q is callod ~eewmm——, then what

is used to erase anything?

Al . BN R T e—

SPﬂCE Fﬂﬂ RUUGH WDRK
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Which among the following can be referred as portable microcomputer?

: . 4l
=
A. Only 1 B. Only 2 C. Both2and 3 D. Both 1 and 3
7. Identify the following :
- It is an input device.
- It consists of a special pad and a stylus.
- Whatever is written on pad is displayed on the monitor.
8. Which of the following Is a storage device that needs to be connected to a port present
on the CPU box?
A. CD B. Magnetic tape C. Microphone D. Flash drive
9. Computers are used in research and science field for "
A. Controlling space shuttle B. Inventing new medicines/vaccines
C. Maintaining fingerprint records D. BothAand B
10. Now-a-days, we can watch live telecasts of music concerts or cricket matches in TV.
TV channels use _ to transmit their programs with the help of computers.
A. Satellite B. Rockets C. Space D. Wires
11. Observe the position of cursor in the given snapshot of MS-Word 2010. What would be
the position of cursor after pressing the Home and then End keys?
But the Ant went on its| way and continued its
toil. When the winter came..........ccoooeveemisicincnies
A. At the beginning of first line B. At the beginning of second line
C. At the end of first line D. At the end of second line
12. is an output device which is similar to printer but is bigger in size and used for

making drawing on paper with automated pens.
A. Plotter B. Projector C. Scanner D. Protector

SPACE FOR ROUGH WORK
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13. Identify the part pointed by ® in the given image.
A. Pointing stick
B. Trackball
C. Joystick
D. Stylus

14. What do you understand by smart wearables?

A. Any clothing or accessory that is connected to internet and incorporates computer or
' any other advanced technologies.

B. Any device that can be carried easily.
C. Any machine that has a small computing chip.
D. Any device that is installed on the motherboard of a computer.

15. To de-select a highlighted icon on desktop as shown in the given
image, you should e @
'F_'m: L L
A. Press the i } key Sovwe. e
B. Click on the empty area on the desktop
C. Wiggle the mouse E
D Recycle Bin

Press the | ol i key

16. Which of the following screen elements is NOT present at the top of MS-Word window?

B. _I Home Iner

D. Both Aand B

17. Search engines are programs that help user to find information about a website or any
1 topic. Which among the following is needed to make use of search engine?

— 1. Web browser 2. Internet connection 3. Notepad

| A. Only 1 B. Only2 C. Only 3 D. Both 1 and 2

18. MS-Paint is a free drawing application available in Windows 7. We can use it to create
different artistic pictures. Which of the following CANNOT be done using MS-Paint?

A. Inserting readymade shapes B. Filling colors in the drawing
C. Adding sound to a drawing D. Adding your name in a drawing

SPACE FOR ROUGH WORK
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19

The shape of the mouse pointer changes according to the action we perform. When we
resize a program'’s window the shape of pointer gets changed into in Windows 7.

A 0 B. [}O C‘I_} D. <=>

20,

Your teacher has asked you to type four lines about yourself in MS-Word 2010 and also
instructed you to close the file after saving it. Which of the following commands would
NOT be used in this task?

1.ﬁ E.E] siﬂ

A. Only 1 B. Only2 C. Only 3 D. Both 1 and 2

21.

Unscramble the word given here and select the icon it represents in Windows 7.
DOSWNIW POLEREXR

22,

Printer, Scanner and Flash drives are devices that are attached with a computer to provide
some basic functionality. They are not the essential part of a computer but yet are quite
useful. Which of the following terms can be used for these devices?

A. Primary devices B. Extra devices C. Peripherals D. Archivers

23.

Which of the following statements hold true about primary memory of a computer?
Statement 1; RAM and ROM are two types of primary memory.
Statement 2 : ROM contains important information and instructions on how to start a computer.

A. Only Statement 1 B. Only Statement 2
C. Both Statement 1 and Statement 2 D. Neither Statement 1 nor Statement 2

24,

You have Wi-Fi connection at your home that let you access internet from any corner
of your home. Which of the following devices can be connected to this type of internet
connection ?

D. Both A and B




25. Secondary memory comprises of

A. CD,DVD and flash drives B. RAM and Hard disk
C. ROM, Floppy disk and flash drives D. RAM and ROM
26. [ isusedto _____in MS-Paint of Windows 7.
A. Magnify the current drawing
B. Display the current drawing in the full screen
C. Save a picture for the first time
D. Zoom-in and Zoom-out the current drawing

I —

27. Which of the following steps would properly arrange the scattered
icons(as shown here) towards the left side of the screen after right
clicking on empty area of desktop in Windows 77

| (lcons shown in the image are currently at right side of screen)
A. Personalize — View — Show desktop icons

B. View — Align icons to grid

C. View — Auto arrange icons

D. Sort by — Item type

28. Which of the following devices is inserted into a special tray that opens out from the CPU
box?

" bod

29. Smartphones have gained immense popularity in the last few years. You can do almost
everything on a smartphone that you used to do on desktop PCs. Which of the following

——— tasks CANNOT be performed on smartphone?

A. Surfing Internet B. Playing games
C. Reading a CD D. Downloading music
30. is a collection of linked documents that contain text and other media elements,
such as graphics, animation, video and audio.
A. Web server B. URL C. Website D. Search tools

SPACE FOR ROUGH WORK
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31. What would be the result if following steps are performed in sequence in MS-Word 20107
| 1. Type -It was great day.

2. Press space bar and then press Enter key,
3. Press Backspace key
4. Type-We will meet again.
A

It was great day. B. It was great day.
We will meet again
C. We will meet again. D. It was great day. We will meet again.

32. The process of Input-Process-Output cycle is not only performed in computers but also
in real life. When you talk to your friend using a phone, then also IPO cycle is performed.

Which of the following statements is INCORRECT regarding the steps shown in the image
shown here?
:_. e

- N

Step 1 Step 2 Step 3
A. In Step 1, the input is supplied by dialing the number.
! B. Step 2 shows the process of connecting the number.

' C. Step 3 shows that the call gets connected and person is having the conversation over
r the phone.

D. MNone of these

! 33. What do you understand by terms data and command with respect to computers?

A. Number or text entered into the computer is data and telling computer to do something
is called command.

B. Number or text entered into the computer is data and processing that data to compute
final result is command.

C. Meaningful form of input is called data and its raw form is called command.

D. Processing the input fed into computer is called data and hard copy of output is called
.i command.

SPACE FOR ROUGH WORK
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34. The given two shapes were drawn in MS-Paint. Which of the following toals' setting was
changed in Image 2 to make it look different from Image 1?

|
| 4 B.
c. & D. % * *

Image 1 lmage 2

35. A person driving a car stops the car when the traffic signal turns red and starts it
when the signal turns green. The person understands the instruction to be followed by
interpreting the color of the lights. Similarly the of a computer interprets the
task to be performed, by interpreting the input supplied to it in form of commands.

‘ ' D+ . | ..‘ -
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LOGICAL REASONING

_ 5@'1-‘[ 16" MCO | Class-4 | Set-B | Lovel 1w

Find the number of triangles in the given figure.

A. 16 v A Vh\N
B. 12 gﬁ w

C. 15

D. 14 ﬁ}.

Complete the number pattern given below.

A 11180 B. 11380 C. 11280 D. 11310

If D means OD. OD means é and é means , then which of the following

looks like a birthday cap?

A D Q) C. é D.

Which of the following is the correct mirror image of Fig. (X)?

% oo ]

Fig. (X)  Mirror

Who is standing to the North of Priya?

A. Megha MaLha Gafimg
B. Latika Lalka

C. Garima E‘“:““ _P:‘E
D. Beena

5PACE FOR ROUGH WORK



COMPUTERS AND INFORMATION TECHNOLOGY

6. Identify the following :
- It is a manual calculating device.
- It consists of nine (sometimes 10) sticks with numbers marked on them,
— It was invented to perform long multiplication and divisions.

A. Napier's Bones B. Difference Engine C. Arithmometer D. Pascaline

7. Given here is a snapshot of Research task pane. What would happen when you click on
the green arrow pointed by letter 'P' in a document in MS-Word 20107

A. The next word in the document will get shown in the 'Search for' box, P
B. Synonyms for the word 'go' will be searched. S ‘:
C. Word 'go' will get inserted at the current cursor position.
D

Trasaun: Engiah 15} w

Pronunciation of word 'go’ will be played. @nal~) @i

8. Arrange the following in ascending order of their invention.

(i)

A, (i)—=(i)—(ii) B. (iii}—={i)—{) C. (iiy—=()—iii) D. (i) (iii)—{ii)

9. Select the CORRECT match with respect to MS-Word 2010.
A. A° - Shift the selected text slightly above the baseline
B. #, - Used for changing the case of selected text
| C. abe - Delete the selected text
p. A" - Canbe used for applying reflection to selected text

10. A drawing is made by you in MS-Paint of Windows 7. What steps should be followed if
you want to fill the entire desktop screen with this drawing?

A. View tab — Display group — | ;.-"'l B. View tab — Display group — E
C. Paint button — n — Screen D. Paint button — u — Fill
SPACE FOR ROUGH WORK
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11. Which among the following is a stored program machine and the successor of ENIAC?
A. ENIAC ONE B. EDVAC C. EDUSAC D. PARAM

12. Select the INCORRECT match.

A. ROM - It stores a special program that helps to load the operating system when
the computer is switched ON.

B. RAM - It affects the number and size of program that a system can run at a time.

C. DVD — It can store data on both sides.

D. Hard disk — It is a main primary memory device found inside the CPU box.

13. Which of the following tools has not been used for creating the given drawing in
MS-Paint of Windows 77

H.ZCZ B. A

C. (@ D. Both A and B

14. Which of the following is a type of optical storage device which stores more data than a
| DVD and is mainly used for storing very high quality video files?

| A.@ E& C,_ D.o

15, A is a standard that specifies the interaction between communicating entities in
a computer network.
A. Node B. Protocol C. Port D. Server

16. Which of the following statements is/are CORRECT about computer peripheral?
A. Itis a core element of a computer system.
B. Power supply and motherboard are examples of computer peripherals.

— C. Itis dependent on computer system to perform its functionality.

' D. Both A and B

17. If the storage capacity of a flash drive is 4 GB, then which among the following can be
saved in it?
(i) A video file of 1250 MB (i) A backup file of 1 Terabyte
(iii) A collection of songs of 1024 bytes
A, Only () B. Only (ii) C. Only (iii) D. Both (i) and (iii)

SPACE FOR ROUGH WORK
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18. Arrange the following activities performed in sending a message in order of Input-

Process-Output cycle.

() Message gets converted into data signals and travels by communication path.
(i) A message is typed and send button is pressed.

(i) Message got delivered to its intended recipient.

A, (i)-Gi)-(iii) B.  (ii)-{i)-Ciii) C. (ii)-Gi)-() D, (iii)-(i)-i)

19.

Which among the following can neither be classified as application software nor as
utility software?

20.

g - ‘H A
_— by Symanter.

Match the devices given in Column-| with the functions they perform given in Column-II.
Column-I Column-i

(a) P (i Used with magnetic stripe cards

# (i) Uses laser light to read data

. ,.._ (i) Used for processing of objective type answer sheet

A, (@-().(b)-Gi).(c)-(ii) B. (a)-Gi)b)-(ii)c)-) C. (a)-(ii)o)-(i)(c)-0) D. (@-i)b)-Gii),c)-()

. Which of the following options determine the speed of a computer?

A. Speed of its processor and capacity of ROM.
B. Capacity of Hard disk.

C. Speed of its processor and operating system.
D. Speed of its processor and capacity of RAM.

22.

m— 5" NCO | Class-4 | Set-B | Level 1 | SUF

Microphone and touchpads are used for providing input. Which of the following devices
incorporates both of them in it?

-9 -4 I8 -8
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23. |dentify the following :

- It is a private network that is used only by those organisations who owns it, campus and
corporate networks are its good examples.

— It should be closed off to the general public and require a login for authorised users.

A. Internet B. Tetranet C. Betanet D. Intranet

24. What would happen after clicking the highlighted option in context . .
menu of Sticky notes shown in the given snapshot of Windows 77  keelesls
A. Color of selected text will get change. | E
B. Color of all the text will get changed. :"
C. Color of Sticky notes will get changed. Ef-‘
D. Color of desktop will get changed. "

25. Unscramble the given word and select the statement which is CORRECT about it.

DARERAHW
A. It is the name of a term used for describing physical equipment of a computer system.
B. Itis the name of a system used for scanning the paper documents.
C. Itis the name of a program used to access websites.
D. Itis the name of a device that converts analog signals to digital signals.

26. Your teacher has asked you to write a short passage on Emerging Technologies using
information from internet. Which of the following would not be required in this task?

" & B. 0 1 C. D. d
. (W gpile[iERS (g
| 27. Select the odd one out.

IMl ReLIANCe B. ? C. Q D. >
e e e airtel vodafone

28. Which of the following options is used for converting Picture-1 into Picture-2 in

MS-Paint of Windows 77 ? .
A B. ‘@3 —
| C. 'E( D. i

i Picture-1 Picture-2
SPACE FOR ROUGH WORK

_ SUT | 16" NCO | Class-4 | Set-B | Lavel 1w



29. What is a smart city?
A. A city in which use of traditional TVs is replaced by Smart TVs.
B. A city in which majority of its population possess smartphones.

C. A city that implements information and eommunication technologies in particular areas
to provide better quality services to its citizens.

D. Both Aand B

30. You have accidentally deleted one of your important files while moving it to another
| folder. To recover the file you should first access the in Windows 7.

e =
0 § ‘W -g
ACHIEVERS SECTION

31. Observe the snapshot given in Image-1 and Image-2. How would the text in Image-2
look, if following steps are performed in sequence in MS-Word 20107

The Mahabharata is a story The battle was fought in
about a great battle,

Kurukshetra near Delhi.

Image-1 Image-2
(i) Select all the text shown in Image-1.

| (i) Click on 6 .

(iii) Click and drag the mouse over all the text shown in Image-2.

A The battle was fought in , The battle was fought in

Kurukshetra near Delhi. Kurukshetra near Delhi.
| C. The battle was fought in D. The battle was fought in

Kurukshetra near Delhi, Kurukshetra near Delhi.
| 32. Which of the following statements hold true about the given device?
: Statement 1 : It is used for reading data from optical storage devices. Q
' Statement 2 : It is a multi-function device that incorporates the function : :_;—_ y.
| of a fax machine.
' A. Only Statement 1 B. Only Statement 2

C. Both Statement 1 and Statement 2 D. Neither Statement 1 nor Statement 2

SPACE FOR ROUGH WORK
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33. Which of the following is an artificial intelligence based program of Windows Phone 8.1
operating system that responds to natural language voice commands?

.0 K O -9

DuckDuckGo BEOURITY Cortana CovEDRAN

34. Windows Explorer is one of the most important file managing application in
Windows 7, which lets you view and manage the files and folders present on your
computer. There are several methods to open this program. Which among the following
is INCORRECT?

A. Press ° and E . keys simultaneously on the keyboard.
Go to Start button—All Programs—Accessories—Windows Explorer

B
C. Type winx in Run dialog box and press | Enter «—! 1 key.
D. Both A and B

35. The given diagram shows a representation of LAN in a

company. The device at center is responsible for providing _q; -

data to all PCs connected in the network. Which of the

following terms can be used to refer this device? \ /

A. Browser ﬂ'"

B. DNS / \

C. Server e

D. Folder .‘ﬁ .
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If 'Moon' is called 'Star', *Star 1s called 'Earth', "Earth’
is called 'Sun’ and 'Sun' is called ‘Mars', then where
do we live?

S, —

A, Moon
B. Star
€. Earth
D Sun
2. Select the CORRECT match,
Figures Figures after 4 | anticlockwise
rotation
ﬁ‘ .
B.
C.
2
3. Find P and @ respectively in the given number
pattern.
A 2234
B. 14 22
C. M2
D. 22,19
4, Which of the following words CANNOT be formed
from the letters of the given word?
CHOREOQOGRAPHER
A GRAPH
B. CRAP
C. CAMERA
0. OGRE
5.  There is a certain relationship between figures (i) and

(it). Establish a similar relationship between figures
(i1i) and (iv) by selecting a suitable figure from the
given options which will replace the (7) in fig. {iv).

I i

(1) (iii) (iv)

2

Some names of students and types of pens are given
below. How many different combinations of 1 kind
of pen and 1 student can be formed?

Name of Student
Megha
, Beena
Garima
Lutika
Priva
Mini
A, 30

B. 35
c. 4
Do 4

Study the following information carefully,

* Trishika, Sidak and Sanchi likes ice-cream.

* Sidak and Sanchi likes burger.

= Trshika and Sidak likes pizea,

* Only Trishika likes burger and chowmein,

Who among the following likes all the four food
items?

A.  Trishika
B.  Sidak
C. Sanchi

0. Can't be determined

SUF| 16" NCO | Class-5 | Set-B | Level 1



8. Which of the following figures have stleast 2 lines
of symmetry?

R

s (©0
o

CI .

D- Q

9,

10,

If in each of the following numbers, | is added 1o
the middle digit, then which number will be the third
highest?

488 514 425 435 587
488
514
435
425

ocnom>

Find the odd one out,

A B39

B, S5(34)12
C. T7(l144) 11
D. 9{48) 15

11, Identify the following :

It was a working model of a propesed mechanical
compiler.
Its design incorporated Input unit, Output unit, Store
and a Mall,

I = Mill was used to do all the arithmetic operations.

A, Tabulating Machine

B. Pascaline

C.  Analytical Engine

D.  Leibniz Calculator

Which of the following hardware devices generate
characters or graphics on a paper by striking cluster
of pins on an ink soaked ribbon?

A, Dol matrix printer

S——
! B.  Flathed plotter
. C.  Daisy wheel printer
| D.  Inkjet printer

13, Whenever we open an application program, it is loaded
into the computer's temporary memory from where
CPU can very quickly access the information about
the program currently being run. Which amongst the
following provides the temporary storage to active
program in o computer?

.

|
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15.

o,

Which of the following statements hold true about

the given logo?

Statement | : [t is a system for connecting electronic
devices to each other or to internel using
fiber optics.

Statement 2 @ [t is a wireless medium for exchanging

tata in o small network,

Only Statement |

Only Statement 2

Both Statement | and Statement 2

Neither Statement | nor Statement 2

=l

Sclect the INCORRECT match.

~ Pointing device found mainly
A i laptop and  notebook
computers,

B ' — Requires less space than a
' mouse for operation,
— It is a special type of optical

SCanner.

It converts annlog information
mto digital form,

¢




16,

19

A device is mnstalled in Yuvika’s school which helps
students wha cannot speak properly. to type the
information they want to speak and then the device
converts it into spoken words, Which type of svstem
has been installed in her school?

#

Optical Character Reader
B. Speech Synthesizer

. Noice Reproduction System
D,  Optical Mark Reader

Which of the following options would replace letters
P, Q and R to complete the able given below?

| Byte =P
Q =2 byies
ITH =R

A, P-1024 bats, Q-1 KB, R-1024 MB
B, P-Ehits, Q-1 MB, R-1024 GB
C. P-4 nibbles, Q-1 KB, R-1024 MB
D, P-1024 bits, Q-1 MB, R-1024 MB

How would the text in the given snapshot display

after selecting the ,_""‘—i-': option from the Drop Cap

drop-down list in MS-Word 20107
You shall practice it daily

& 'ﬁd ,? oir shall practice it daily

shall practice it daily
= You

€. You shall practice it daily

ou
shall practice it daily

Which of the following is an electronic device that
reads data printed in the form of black and white
lines and then sends the information to the syslem
comnected with it?

1

AN

%
'-
=

A,
B.
C.
D,

Awvika has drawn a text box in a document and now
she wants to change its shape from rectangle to cloud.
Which of the following options can be used 10 do so
in M5-Word 20107

22.

A D
it

.

—_—

. oo
D. X

In which of the following views of MS-PowerPoint
2010, there are several panes and each pune has its
own scroll bar so that youw can move around in one
pane independently of the other panes?

A, Normal

B. Slide Sorter
C.  Notes Page
D, Reading View

Clicking on which of the following options will
display a rectangular frame with a magnifier in
center, as shown in the given snapshot of MS-Paint ol
Windows 77

Q

OB L0

e N E &

The given set of options can be scen in lower left
corner of the screen while viewing a presentation in
Shide Show view. Which among these (labelled by
numbers 1, 2, 3 and 4) when clicked, will open the
slide navigation menu in MS-PowerPoint 20107

«r b

2 ame
T

24,

Select the odd one out.

A [{1
#_‘

». fedora?

SUF [ 16" NCO | Class-5 | Set-B | Level 1



25.

D. BothAand B

29,

— 16" NCO | Class-5 | Set-8 | Leval 1 | SUF —4

Lising the ! option in MS-Paint, you can

A, Switch between the Colors and Black and White
maode

B,  Add a Customised fill pattern in a shape

€.  Change the size of drawing canvas

0D, MNone of these

You have inserted header in a document and also
want 1o use this header content in other documents.
Which of the following options would replace 7" in
the given sequence of steps if you want lo display
that header in the Header gallery for future use in
MS-Word 20107

Select the header content — In the Design tab of
Hender & Footer tools, click on [7] — Click on Save
Selection to Header Gallery

—=
A
=i
B,
. -
=
By,
® T

Which of the following options will you select to stretch
or clongate an image m MS-Paint of Windows 77

A, H
B. 93
c fJ
-
0. 2k
Which of the following statements is CORRECT
ahout multimedia?

A, Multimedia applications can only store digital data
they cannot process it.

B. A multimedia application with large set of audio
and video take lesser time to launch than the one
which containg text and static images.

€. Wideo, animations and awdio are the continuous
form of multimedin elements,

You want to connect a USB mouse with your system,
you should plug it in the port which has
symbal above it

30,

3l

33

C.

D.

D 20

Some smartphones allow the users to use some hand
motions to perform certain tasks. Such as, a user can
answer a call by just waving his hands over the sensor
instead of touching the device, as depicted in the
diagram. This technology is called

A Passcode TI:" Llser - Inputs & gesiure

\ '
B. Air Blow ¥

I Bemant derewts (ha gnture,

deibuee 0 nra sigmald and
[naaEs i b e drcder

Lozeoming call i

itdwrred

. Adr Gesture

Performs the tak s conveyod

D.  Wave Interface oy the pestiine

Clicking on separates the paragraph from the
left margins using blank spaces in MS-Word 2010.
Al =
B 38

i —
=

Given below are few initial steps to ereate a shortcut on
the desktop for a folder saved in D drive of vour computer.
Which among the following is CORRECT?

A.  Right click on desktop — New — Folder

B. Right click on deskiop — New — Shorteut

C.  Click on Computer icon on desktop

D, Right click on taskbar = Go to Toolbars

Today, mostly all organizations create their own weh
sites on Internet to distribute timely information about
corporate achievements, new announcements, ete, This
statement shows that internet is used for

A, Organizational promotion
B. Customer support scrvice
C.  Resource sharing

0. Remote connections



34,

Lk
LRy

6.

Which among the following key combinations, when ig.

pressed, will maximize a restored window ina computer
runoing Windows 77

Fo T
o Tan ]I l

i | }L_

s
H' | Al ]"".F Tm"_‘-_l
c AN ]J | Spacebar i lx ]

i ~__—___.j :

r——
D. | At ]+t Spacebar I-&']

i ¥ =
Which of the following statements hold true about
the given icon of Format tab which gets active when
vou insert pictures in MS-PowerPoint 20107

H
L

Statement | :
several graphical objects as n single
entity.
Clicking on it opens the selection pane

which displays list of all graphical
objects in the current slide,

Statement 2

A Only Statement |

B, Only Statement 2

C. Both Statement | and Statement 2

D,  Meither Statement | nor Statement 2

Personal assistants are programs that can be used 1o 40.

schedule mectings, book movie tickets, store and retrieve
personal information such as contacts, birthdays etc,
Which among the following is one such program?

~ O

Cortasa

B, 9
¢ @
> oy

It can be used when we want to treat 39.

The given diagram shows connection of various
networking devices to the internet, Which among the

-

following will replace *?" in the given diagram?

%

@lcrnul .

E] i =%

1 8 I
D 2y
B ) f//\%
'W%::% ™
r"u:"""ﬁ.. Comnects together| __—.
b tfghﬂ indivadunl computers \‘?‘\
A, NIC
B. Modem
C. ISP
D. Server

ldentify the following :
It serves as a medium in o commumcation system,

~ Itis a type of wired transmission media.

— It 15 most widely used communication medium lor
i telephone company network.

A, Twisted cables

B. Coaxial cables

C. Wi-Fi

[ Infrared rays

Which of the following is NOT an in-built entertainment

application in Windows 77

(iv)

A, Only (i)

B.  COnly (i)

C.  Both (iii) and (iv)

. Only (i), (i) and (iv)

You ean use internet to get information about any 41.

topic, but you need a web client to access any kind
of information available via internet, Which of the
following sofiware serve as a web client?

- &

.
©

)

Videos can be stored using the AVI formar, Whai
does AV stand for?

A, Auwdio Video Interface

B, Audio Video Interleave

C.  Audio Video Interaction

D, Audio Video Internet

Which of the following is NOT required for a
multimedia project?

A High speed memory device

CUI based svstem

A high resolution display screen

A Fast processor

onE
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43.  Main board and logic board are alternative names of
which computer component?

Ab.

You have created a lengthy document and jnserted
some pictures and text boxes in it. You want to quickly
edit the text of the document and for that vou want
that the graphical elements shall not appear during the
editing process. Which of the following views shall
you enable for this purpose in MS5-Word 20107

B.

C.

-

47.

48,

When does the given dialog box get displayed in
MS-PowerPoint 20107

o s wand In GO EVITY ShOE T R P SOl ey e Core glde®

e e ——

A, When you run a slide show of a presentation.

B, When you save o presentation in one of the praphics
formats.

C. When you convert a SmartAn graphic to a shape,

D. When you create duplicate slides in o
presentation.

Observe the given diagram, which shows the relationship
among hardware, software and users of a computer
system in the form of lavered architecture. Which
ol the following layers does the task of coordinating
operations of various hardware devices to optimize
the performance of all devices?

44,

49,

A 18 the sinallest computer which can function
s a mobile phone, fax sender and internet browser. It
combines computing, telephone, fax and networking
Features.

A, Laptop

B.  Mainframe

C. PDA

D, Supercomputer

__is a set of routines that performs a variety of
generalized operations such as sorting, searching,
merging, copving, printing and maintenance on data
files in your computer.

File utilities

File activator

File concerner

ocnw>

oo gl e
T

AL

—— Layer 4 —;
———— Laver 3 ———m——n00—

——Fayer 2———

Layer |
Physical components of

the computer systom

Softwarc that constitutes the operating
and programming environment of
the computer system

Software that do a specific task
| forend users

o

o

Internction of user take place with
the system vid user interfaces

A Layer |
B. Layer2
C. Layer3
0.

Laver 4

Select the INCORRECT match.

A. George Boole — First person o0 design
a computer which had

memory 1o store results.

Developed the first
awtomatic sequence
contralled calculator,
the Mark 1.

Invented a  mochanical
calculator that used gears,
wheels and dials.

B,  Howard Aiken -

C. Blaise Pascal -

D, John Atanasoft ~ Invented the first elec-

tronic digital computer,



perform given in Column-11 with respect to Windows 7. defragmenter service.

50. Match the icons given in Column-T with the task they () 9 (jii) Let you nceess utilities like disk
g = |
‘ Column-l Column-1

{a) g {i) You can use it 1o check the A, (a(ii), (b)), (e)-(iii)
' m !’mduu:t 1D of edition of Windows B, (a)-(i), (b)=(ih). (c)-Gii)
itestalled. ’ e
b) (i) All " 1 C.  fa)-di), (B)-(ai), (e)-Liii)
{ i ows  you to change the e \
’ resolution of your system. D.. (@), (B)-(i), (e)-(0)
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Four different positions of a dice are shown below.
Which of the following coloured face is not adjacent
to the face coloured white?

A Violet
B, Yellow
C. Red

[ Black

Which of the following options will replace the (7)
to complete the pattern in Fig. (X)?

Some friends A, M, D, P, R, T, B and H are sitting
around a circle, facing the centre. M is third to the
left of A, who i second to the left of T. D is second
1o the right of H, who is second to the right of T. R
is second to the right of B, who s not an immediate
neighbour of T. Then, who is second to the left of
B

A, D
B. H
cC. M

D, Data inadeguate

There is a certain relationship between figures (1) and
(i1). Establish the same relationship between figures
{iii) and (iv) by selecting a suitable figure from the
options that will replace the (7) in fig, (iv).

D] ?

(i) (i) (1) (iv)

Al Q B. @

D

£
Ko

‘g 0

How many even numbers are there in the following
sequence of pumbers which are immediotely followed
by an odd number as well as immediately preceded
by an even number?
B5867680327534223552281193
1751

A,
B.
C.
D.

wh ok e ba

Atul walks 20 metres towards South. Turning to the
lefi he walks 30 meires. then turming right he walks
10 metres, then wrning right he walks 40 metres, then
turning right he walks 30 metres and stops. In what
direction is he with respiect o his starting poimni?

A, Sowmh-West

B, West
C.  North-West
D.  North

This question consist of a set of three fipures X, Y
and Z showing a sequence of folding of a picce of
paper. Fig. (£) shows the manner in which the folded
paper has been cut. Find the option that most closely
resembles the unfolded form of Fig. (Z).

i |
v < |[.°

X Y £
o oﬂ‘
A o o B. L] o
£- 1 - -] -]
o o -]
o (-3 -]
o
. |o%o b | °°
a o =3

Ponting to a girl, Arun said, "She is the only daughter
ol my grandfather’s only son”. How is the girl related 1o
Arun?

A, Daughter

B, Sister

€. Cousin sisier
Do Data insdequale

_SQF|1E‘NG{]|GMIS‘{.&1LW1 =



Seleet the correct mirror image of Fig. (X).

& 7
| S5
& 5
Fig (X} Mimror
o 2 0 e
CTE s T
& N %

10.

& i3

In a certain code language, OCTOBRER is writlen as
OCIObEr and NOVEMBER is written as nOvEMbEr
How is FEBRUARY written in that language?

A.  [EbruAry B, FEbelJArY

. [EllUArY 0. EbUarY

Every computer contains an internal clock that
regulates the rate at which instructions are executed
and synchronises all the different computer components,
The faster the clock ticks, the more instructions
the CPU can execute per second. Clock speeds are
expressed m or

A, Megahertz, Gigahertz
B. Megabyte, Terabyte
C.  Nibble. Bits

D. Bits, Nibble

12,

13

Select the CORRECT match.

A Bn - It is an elementary unit of
the memory, there are only 1wo
possibilities for each digit, either
0orl.

A group of 4 bits is called Byte.

It s a group of 8 bits, Tt is the
smallest unit which can represent
a meaning ful data 1tem in a
computer.

It is equal 1o 1024 KiloByte

C. Mibble -

D, 1024 Byies -

Which of the following options represents the
CORRECT example of the software numbeared as (i),
(1i) and (1i)?
(i) Word Processor
(i) Interpreter
(i) Presentation lool
Ao () - Lovus 123, (i) ~ QBASIC, (iiiy— MS-Word
B. (i) QBASIC, {ii) — MS-Word,
(ifi) = MS-PowerPoint
C. (1) = C language, (ii)
(1i1) — MS-Word
0. (1) - MS-Word, (1) - QBASIC,
(i1} — MS&-PowerPoint

Lotus 123,

Identify the following :

— Itis a type of memory that cannot be directly accessed
by the CPU, while processing information, data is
tramsferred to primary memory when required.

15.

16,

— It i5 used to store large amount of data

permanently.
e
C. . Both Aand B

&

Which of the following statements hold true about the
Command button-1 and Command button-2 regarding
MS-PowerPoint 20107

a0 4
-
Button-1 Bution-2
Staternent | - Button-1 is used to select sound to play
between the transition of previous slide
and the current slide.
Staternent 2 © Button-2 allows you to view or play the

amimations that you have applied on the
current slide.

Only Statement |

Only Starement 2

Both Statement | and Statement 2
12 WNeither Statement 1 nor Statement 2

nEe

Which of the following is a CORRECT method 10
hide the Shdes and Outline tab in Normal View in
MS-PowerPoint 20107

A. Point the cursor at the extréme right side of the
Slides Pane window —» then mouse cursor tums
into splitter .."-. ~ drag the splitter to the extreme
left.

B, Change the view of the presentation from Normal
View to Reading View.

€. Change the view of the presentation from Normal
View to Notes Page View,

D, Change the view of the presentation from Normmal
View to Slide Master View,

h— 16" NCO | Class-6 | Set-B | Level 1| sQF @



19.

20.

€. Yuwall

Select the odd one out (regarding the Operating System

Interface - GUI & CUT).
s
. |'l

i
‘@ "i0S

Which of the following statements is CORRECT
about the ENIAC computer?

A 1t was a first programmable machine designed by
Charles Babbage that had same busic clements as
the modern computer- input, output and memory
devices.

B, 1t wasan electronie compuier that was buili using
18,000 (approx) vacuum tubes which looked like
small bulbs,

C. It filled an entire room and was successor of
EDSAC.

. It belongs to second generation of computers
and was much faster than today’s PCs due 1o the
presence of thousands of vacuum tbes.

Which of the following states the CORRECT difference
between Impact and Non-lmpact Printer?

Impact Printer Non-Impact Printer
{1) In this, there is a comtact In this, there is no
between the print head contact between  the
and the paper during the print head and  the
printing process. paper.
They are less noisy,
faster and give much
betier  print - quality
than impadt printers.
For eg. Dot matrix

(i) They are slow, noisy
and are not wsed for
high quality printing.

(iii) Foreg. Laser printer.

printer.
A, Only (1) B.  Both {i) and (i)
¢, Only (i) D, Both (i) wnd (i)

_super computer was the first machine o
defeat the world chess champion, Garry Kasparov,
A, PARAM ROOD B, Deep Blue
D. ANURAG

Match the viruses in Column-1 with their examples
in Column-[I.

“olumn-| Colummn-1
{1} Boot sector virus (i) Sunday
(b} File virus (ii) Stoned
(e}  Maero virus (it} Melissa

A, (a) - (i), (b)Y - (i), (e) - (iii)
B, (a) - (ik (b) - (i), (c) - (i)
€. (a) = (i), (b) = (i), (€) = (i)
D, (a) - (i) (b = () (e) - (1)

Direction (22-23) : Observe the given snapshot carefully
and answer the questions that follow regarding MS-Word
2010.

23

24.

..-. Table-1 Table-2

Ciass |Roll
et Murmber Mame | Class | Roll Number
Anu gith 9 Anu Aith 1

Ajay 4th 2

Ajay | dth 2

'Au

What is the function of the buttons marked as @) and

@ in Table-17

Al 1- Selects the ennire mble, 2- Used to resize the
entire table manually

B 1- Selects the entire table, 2- Used o delete the
entive table manually

C. |- Resize the entire whle manually, 2- Selects the
entire table

0. |- Delete the entire table manually, 2- Resize the
entire 1able manually

Which of the following options would make the fext
‘Roll Number" automatically fit into the 3 column
as shown in Table-27

B8 ==

c. B n.
=22

A.

Both A and B

Observe the QBASIC stmements shown here,
PRINT “lype your name”;

INPUT name$

The given QBASIC statements can also be writton as:
A, INPUT “type your name™; name$

B, LETS type your names ; “name”

. LETS wype your pames , name

D, INPUT type vour name, Sname;

How would the pointer shape appears in the document

when you click on the Split option in MS-Word

20107

A. = B,

.3
.

IF

. I
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26. Which of the following statermments is INCORRECT

National Cyber Olympiad  National Cyber Olympiad
about 1Pad Air 27

Tex1-1 Text-2
A. Itis the 6™ generation iPad tablet computer.

B.  Ivis powered by 105 8.1 operating system, A J B. @

¢, Its default online storage service is Dropbox, -

. It comes up with built-in apps such as FaceTime, . =i
iTunes Store, ete, L. B D. E

27. MNumbers 1, 2, ¥ and 4 inthe given image represent

the different animations that have been applied to it 31, Which of the following QBASIC statements will
in MS-PowerPoint 2010, Complete the given steps generate an error?
by replacing the question mark (?) 1o remove all the A CLS
animations at once from the given image INPUT name$

" PRINT "1 am" ; name$

: B. LET name$ = "David"

4 PRINT name$

C. PRINT "Hello friends"
PRINT
T — Animations tab — Animaftion gro ur'r ERINT "En.]m:.-mg o .
. 0. LET A= "National” + "Olympiad”

— Select ﬁ PRINT A

A, Select the image.

B. Selectthe buttons 4, 2, % pnd 4 simulianeously
by pressing SHIFT key,

€. Select the buttons numbered as 1, &, 3 and 4
simultaneously by pressimg CTRL key.

32, Which of the following is an enhanced Teature of the
advanced forms of Instant Messaging software used
now-a-days?

A You can share hyperlinks 1o your favourite

D.  All of the s
z b — B.  You can share real-time news and updates,
28, Which of the following statements hold true aboul C. You can use internet mstead of phone to actually
. the Shut down eption in Windows 77 talk with friends,
.' Statement | : In the process of shut down, operating D, All of these

system files are sent back to the hard disk P o c
pecmedty 5o that o demage 13 cxnsed to 33, Arrange the given steps in CORRECT order to show how

the files the two compulers having different operating system,
- ' are able to communicate with cach other through the

Statement 2 ¢ 1 you switch ofT the computer without commonly used protocols i.c TCP and IP.

giving a proper shut down command

then there are very high chances of Step |2 The TCP armanges the packets in the order of

losing data and it may also damage the their serial number. Thus, the original data

I Windows operating system. is obtained. IF any packet is lost during the
| A Ol Statement 1 transmission, it is demanded again,

B ﬂnlif Sinicinint 2 ; Step 21 Data (messages or files) is broken down into

C. Poth Staremet 1 dod Staicoieat 1 small packets. Each packet has a serial Inurflh:r

0. Neither Statement | nor Statement 2 A o0 pddeess: catied IE: Eddra o il Fach

computer connected to the internét has a unique

29, What is ‘Retina 5K Display'? IP address.

Step 3 @ All these packets are then sent to the address
of the destination computer one by one. They
are passed from one computer to another until
they reach their destination.

Step 2 —» Step 3 = Siep 1

Step | — Step 2 — Step 3

Step | —» Step 3 — Step 2

Step 2 — Step | — Step 3

l— 16" NCO | Class-6 | Set-B | Lavel 1 |SQF — — 5 —

A. A digplay technology by Apple Inc,
B. A display technology by Microsofi.
C. A display technology by Google.

[, A display technology by Samsung.

30. Which of the following features of Page Layout tab
would change the background of a page from the one

I shown in Text-1 imo Text-2 in MS-Word 20107

SnEe




34.

In Windows 7, when you click from the

Start button,
It ends the current Windows 7 session

— It closes all windows, programs and documents
It chisplays the Log In screen,

A. Lock B. Logoff
€. Shut down D. Switch user

35, Theimage shown here represents all thee five components
of communicaton, { Sender, receiver, message, medium
and protocol) between two devices connected via

Bluetooth and sharing music file. Among the following

identify the component:

. Ihat governs data communication between the
devices,

. Without which, two devices may get connected
but do not communicate, just as a person speaking
Russian cannot be undersiood by the person who
speaks only French,

Frotocol Frotocol
Rule | Rule |
Rule 2 Rule 2
Rulen | Sharing Music (Message) | Rulen
Sender a (Medium) Receiver

A, Medium B, Message

C. Protocol D BReceiver

36. Match the internet terms in Column-] with their

deseriptions in Column-11,

Column-T1

(i) Web service that provides
users with frequently
updated content.

(i} It relies on sharing
Cﬂ]l’lpllli“g TESOUTCEs
rather than having local
servers or personal devices
1o handle application and
data.

(e} Cloud Compuling  (1ii} A website that containg
an online personal
journal with reflections,
comments and often
hyperlinks provided by
users,

Cad=(iy, (b=(iii), (e)=(ii)

(a)-{iid, (b)=(id, (c)-{iii)

(ad=(il, (BY-(i), (e)-(an)

0. ey, (bj-()y (e)-(u)

Column-1
(#) Web Feed

{b) Blogs

o

s

44,

C. Spam

41.

Select the odd one out (Reparding the features of
Windows 7).

Ao Windows Easy Tronsfer

B, Windows Fax and Scan

C.  Remote Desktop Connection

0. Adobe Photoshop

Which of the given statements will add comments in
i QBASIC program?

(1) REM To print o statement

(i) “To accept the value

hill REM BEEFIFEFEBRSIFHEEEW

A, Both (i) and (it} B.
. Both (i) and (i) .

Both (11} and (i)
(), ) and (i)

Select the odd one out,

A @mailbird P €) munoersolr

¢ ﬂEj Outlook D, @

ldentify the following :

- It is a program capable of reproducing and
spreadimg isel{ 1o another computer system, usually
by means of computer network and spread without
any human action.

= It can create copies of itsell to other computers,
infeet them. and then uses the address book of the
infected computer to spread further.

It consumes large amount of memory, thus
slowing down the computer and making it almost
impossible for the user to work.

B.  Worm
. Trojan Horse

A, Firewire

Which of the following devices can be infected by
the computer virus?

A, CD-ROM B.
C. Mouse

Monitor
D. MNone of these

Which of the following options would replace the
"7 in the given step to enable you access the setiing
that resume the same pape from where you left off
whenever you open Google Chrome program?

T =3 Settings = On startup — Continue where

you left off
A B

-

m

D, |HEnw
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43, Which of the following features of Contral Panel
of Windows 7 collects security, maintenpnee and
troubleshooting related information of & system in a
single window and displays message in the notification
irea when the computer's secunty need attention?

44,  Mohit typed sizer<=] MB in search box of Windows
Explorer of Windows 7, It searched all the files whose
size wis less than or equal to | MB. It can also be
writlen as

A sz MBL1 MB
B size=1MB

=
L

C. size=<={ MB-1MB
D, size<s=0 MBI/ IMB

In Column-1 categories of printer is given, in
Column-11, their examples are given, Match the
caregories of printers with their examples,
Column-1 Column-11
(#)  lmpact printer (i) Dot matrix printer
(b  Non-Impact printer (it} Daisy wheel printer
(i) Line printer
{iv) Laser printer
(v} Inkjet printer
A, () ik G, (v (b) (i), Giv)

B, (&) = (i), Ciedh Ovd: (B) = (1), (V)
€. (a) — (s {vk (b) = (i), G, (1)
I fa) = (i) (a), Gaid; (b) — (), (v)

46. In the given diagram, features of generations of
compulers are given in boxes marked as P, Q) and R.
Identify the device used in these gcncraliumi.

[ Evolution of Computers

AVARN

» Machine « Facilited » Senall transiciies
lariguage was auboralion were pled
nsed oof indlustrind o silicen

= Sioed process and chipo, called
jirogran office seimicondiscior,
concepd wils o Thouzands of therchy imcreasing
- ICs were placed||  the speed off

« Userd punched ol i single COMHET.
card for input. | | silean ehip Based on bgh

* High processing) [ fevel language.
+ Muchbne
idepenilent.

v W &7
oWl ey &
c v M. ~a.
oy & Wl

47, SBuppose you want to change the color of your
window bhorders, start menu and taskbar in
Windows 7, which can be achieved by going to Control
Panel — Personalization — Window color, but
instead of showing the color ranges, the dialog box

16" NCO | Class-6 | Set-B | Level 1 | SQF —

44,

as shown here, is displayed, that makes you unable
1o change the color. This dinlog box appears when

Bt Wi
Wigrmyp Sr{ﬂ.l-_
[ 5% CE P
Wamispe Tast

=

You are not using an aero theme.

B. You are not using Basic and High Contrast
theme.

C. You have wned off your computer speaker.

D, You didn't configure your desktop wcons,

Which of the following statements hold true about
the given software?

1] Office 365

Statement 1 @ It is a Cloud Computing service tha
allows you to use MS-Offce apps on
Windows devices,

: It is o Word processing software and a
successor of MS-Office 2013,

Only Statement |

Only Statement 2

Both Statement | and Statement 2

Meither Statement 1 nor Statement 2

Stntement 2

oo E >




49, In the given dingram, computers in Man Ofice A, Irepresents the EXTRANET.

building can share data between them, and outside . “Pariners” can access the data of Main Office only
the mnin office bwlding, only Partners building can if they have a valid vsername and password.
access the data of Main Office building, Which of €. It is a super network that can also be scen as an

the following statements is INCORRECT regarding

advance [orm of WAN,
the given type of network? > :

1 Both Aand B

Communization
resiraciod

50, Select the CORRECT clements with their examples
in QBASIC,

A, Numeric constun 123454
Geveral P by B.  String constant #3502, Rohini"
A : ’
E'uh-hu;'_ﬁ(. o C.  Virable amarks
o
Muain O ffice D Kevworl METHOD
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There is a definite relationship between fgures (1) and
(2). Establish the same relationship between fgures
{3) and (4) by selecting a suitable figure from the
options that would replace the (7) in fig. (4).

E=E

(n (@ (3

R

[

If P denotes =", T denotes "', M denotes '+ and B
denotes '+, then 26 BTPET6 M4 =7

A, 312
B. 30
c. 32
D 3

Find the missing number, if a certain rule is followed
row-wise or column-wise.

S

How many such 1's are there each of which is
immediately followed by 2, and 2 is not immediately
followed by 37
1213451235212614511241232175
2125

Ao 2
B 4
. 5
b 7

A 10

Count the number of cubes in the given figure.

A
B. 35
c
D

s[s]a2
B. 12 241

Co13 8310
D, 20 MEIE

Select the correct water image of Fig. (X).

Five persons are standing in a line. One of the two
persons at the extreme ends is a professor and the
other a businessman. An advocate is standing to the
right of a student. An author is to the left of the
busimessman, The student is standing between the
professor and the advoeate. Find the position of the

advocate from the left end,

A "
B, 2™
€ M
D 4

Select the figure from the options which satisfies
the same conditions of placement of the dots as in
Fig. (X).

Fig. (X)

SUF | 16" NCO | Class-7 | Set-B | Level 1 s
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Sorar

B

Find the odd one out.

A, BFINRV
B. DGIMPS
C. MORTXY
D. PRTVXZ

10,  Group the given figures into three classes on the basis
of their identical properties using each figure only

S[z[®
ALE
[4]e

A, 159 247,368
B. 3.5% 168 247
C. 145 268379
D, 359 148 267

e 16" NCO | Class-7 | Set-B | Lavel 1 | SUT me—

generation of computers used magnetic
disks as backing store medium and introduced
programming languages such as COBOL and
BASIC.

A. First
B. Second
C.  Third

D.  MNone of these

Compiler is used 10 convert High-level langunge to
the Machine-level language, as shown in the given
block diagram, Which of the following terms can
also be used in the place of High-level language and

Machine-level language respectively?
Compiler Machine-level

High-level s —
language language

A.  Source program, Editor program
B.  Ohbject program, Editor program
C. Source program, Ohject program
D.  Editor program, Object program

Which of the following first two steps are CORRECT
if you want to modify the formatting of built-in
heading styles of Quick Styles pallery by applying
strikethrough effect on it (as the formatting changes
shown here in the images from Image-1 o Image-2)
in MS-Ward 20107

AaBbCt¢ AaBbCel [AaBbCe AaBbCe
Heading |  Heading 2 [ | Heading | Heading 2

Image- 1 Image-2

A Right click the style in Quick Styles
gallery—Modify

B. Right click the style in Quick Styles
gallery—+Format

C. Double click the style in Quick Styles gallery
—sFormat

D.  Double click the style in Quick Styles gallery
—Edit

14, Which of the following options would come in
the place of Step (iv) if you want to copy
the Slide Master theme to another presentation in
MS-PowerPoint 20107
{1} Open both the presentations
(i1} In the presentation that contain the theme, enter
Slide Master View by going to : View—>Moster
Views—Slide Master

{iii) Select the Slide Master and press Ciel + C

(iv) ?

(v) Enter Slide Master View by going to : View—sMaster
Views—Slide Muoster and press Cul + V

A, Switch to other presentation by going to
View—Window—Switch Windows

B. Press CTRL + W, to switch to new window

C.  Preserve the Slide Master View

D. BothAand B

I5. Which of the following operating systems is/are based
on *“WIMP' interface?

(i) ﬂ (ii) lﬁl (i) ﬁ

Both (1) and (i)
Bath (i) and (iii)
Only (iii)

(i), (ii) and (iii)

onNnEpF
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Which of the following statements hold true about
the given (eature of MS-PowerPoint 20107

o

Statement 1 : To use this feature vou need an internel
connection.

Statement 2 @ While using this feature, you can casily
edit your presentation or mark it with
highlighter or pen,

A, Only Statement |

B. Only Statement 2

C. Both Statement | and Statement 2

[3.  Neither Statement | nor Statement 2

What is the function of the button found ot the righi
edge of the horizontal scroll bar marked as @ in the
given snapshot of MS-Excel 20107

A, Itis used for sphtting the worksheet window into
upper and lower panes.

B.  Itis vsed for splitting the worksheet window into
right and lefl panes.

C. It asutomatically shifts the Zoom slider button to
the left.

. Itis used o hide the Status bar.

What would be the output of the given QBASIC code?

LETX =10
WHILE X > 0
PRINT X,
LETX=X-2
WEND

END

A 10
B0
c. 10
D. &

O 55 o

b
6
8
B

m"nl-‘-f-
P -
L

3 l

Holographic computing is one of the emerging technology
in IT world. It is used for presenting laser generated
3D images of objects in-a real environment. Which
of the following is the name of the handset being
developed by Microsofl that let you see, hear and
interact with holograms within an environment?

A.  HoloLens

B. HoloSet

. MS-Headset
D MS-HoloBox

22,

After selecting the data shown in Table-1, which of
the following shortculs would enable the filters in
the data headers as shown in Table-=2 in MS-Excel
20007

Name Efkll Name| - ]
Arun 45 Arun
T —¥
Shayana | 48 Shayuna
| Swati | 23 | Swati
Tuhle-1 Tuble-2

Sclect the odd one ou.

A m
il Ezip

D. E-] Team\Viewer

In MS-Excel 2010, cell Al contains the value ; 123,
when you select the cell and drog its fll handle to
cell A4, you would see an option with a drop-down
button, which when clicked, displays the four options
{as shown here). What values would appear in cell
Al to Ad when “Fill withow formatting” option is
selected?

:-nﬁ{;';ls
Q  Fill Senes
O'_ Fill Formatting Oaly

|, Fil Wingat Formatiing

A
123
123 B.
123
123

A
123
m | D

123
123

£

- EEE[E

Pl
L

""'”"""""th hwm--[h

EEE
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23,

Which of the following connections represents serial
transmission?

A. USB memory stick »Compuler

. Kf}'hm“d vomnechad via P52 connecbod 1l.'|r n[‘&k1ﬂp

C.  Printer =Wy Centronics port

. BothAand B

comnected van LISH pari io

Which of the following QBASIC code will pnnl

multiplication table of 2 and 37

A. FORA=2TO3
FORB=1TOQ 10
PRINT B; “Times" .
NEXT B
NEXT A

B. MNEXTA=2TO3
NEXTB=1TO 10
PRINT B; “Times™: A “is": A*B
FOR B
FOR A

C. WHILE A=2TO3
WHILE B=1TO |0
PRINT B; “Times"; A “is"; A*DB
FOR B
FOR A

D. WHILE A=2TO3
WHILE B=1TQ 10
PRINT B;
FOR B
EXIT A

A; tisTy AT B

A s AYB

“Times" ;

Hard disk is an electromagnetic device because

A.  HReading and writing data is electirical but
the positioning of the disk head to the correct
track and waiting for disk to rotate are mechanical
process

B. Readng and writing data is mechanical but the
positioning of the head to the correct track is
electrical process

C.  Iuses ICs to store daia

[, It is not susceptible to shock

In the given example of URL, which part (marked
as @, @. © and @) would represent the link o
computer/server!

hup://Chscindia.org/ Datesheet-seventh/seventhnew.htm
0 (2] o 0

A O

B. @

c @

D, @

27, Select the odd one out,

=

TR RELIANCE

~

s

28, Replace (i), (it) and (i1} by identilying the wired

transmission medium with the help of description
given in the diagram.

Wired Transmission

Medium

i) L Lo {iiil
Ithas twawireswith | (11 has a central| |1t is made up of
plastic insulation. | | core conductor of] | glass or plastic
Signal sent by the solid or stranded)| | gnd transmits
senderonone of the | | Wire enclosed n anll ionals in the
wires, interference | | insulating sheath.| | e o¢ the

and crosstalk may Whishin o spcatiad light.
; in an outer conductor
nffect both wires

e | a5
signnls P
A. (i) - Twisted pair cable, (ii) - Cooxial cable,
(iii) - Fiber—Optic cable
B. (i) - Coaxial cable, {ii) - Twisted pair cable,
(1ii) - Fiber-Opuc cable
C. (i) - Fiber-Optic cable, (ii) - Twisted pair cable,
{iii}) - Coaxial cable
D. (i) - Fiber-Optic cable, (ii) - Coaxial cable,
(1ii) - Twisted pair cable

29, Match the following Message Security services in
Column-1 with their descriptions in Column-IT,

Column-| Column-11
{a) Message (1) In this. the sender and
Confidentiality receiver expects privacy.
The transmitted message
must make sense to only
the imtended receiver, for
others, the message mus be o
sarbage,
(b) Message (i1} It means, message/data must
Integrity amive at the receiver as it was
sent. There must be nochanges

in the transmission, neither
accidentally nor maliciously,
(e) Message {1it) In this, the receiver needs
Authentication 1o be sure of the sender’s
identity and that an imposter
has not sent the message.
{a) - (i), (b} - (11}, {e) - (nii)
{a) - (i}, (b) - (i), {e) - (iii)
(a) - (1), (b) - (iii), (e} - (i1)
(a) - (i5i), (b} - (i), () - (7}

SnEe




a0,

3.

32,

3.

34.

Which of the following is a replacement technology
for magnetic strip card which stores data in microchip
of the card rather than on magnetic stripes?

A, Stripe-pin technology

B.  Chip-and-pin technology

C.  Micro-1C-pin technology

D.  IC-Micro-pin technology

Which of the following features has been explained
below?

Simply drag the title bar to the top of the screen to
maximize it, or drag the title bar away from the top
edee to restore it in Windows 7,

A, Aero Peek
B.  Acro Shake
C.  Acto Snap
D, Acro Jump

is & piece of source code that hides ftselfl
within a legitimate computer program like & game
or screen saver that the wser himsell has installed.
However, when a pre-set trigger event, like a particular
date or time ocours, it unleashes the malicious program
1o wreak havoe on the computer,

A, Melissa

B. Trojan horse

C. Computer worm
D.  Sunday

Which of the following features of Windows 7 would
enable the transfer of files from 32-bit version of
Windows 1o a 64-bil version?

0. All of these
Select the INCORRECT match.

A. Macro virus — It is'a piece of code that can be
embedded in a data file such as
word processors and spreadsheet

applications,
B. Stealth - While active, it hides the
virus modifications it has made 10
files.

C. Polymorphic — It produces the vared copies of

virus itself, due to which it can easily be
detected by any vinus scanner.
D. Boot Sector — |t copies its own malicious code
virus in the Master Boot Record of
a PC.

35,

In some cases, a program written for an carlier version
of Windows might install successtully but still not run
well. Which of the following wizard of Windows 7
will fix this issue and let the older program o run in
the current version of Windows?

A, Windows Remote Assistance

B Program Compatibility

. Ease of Access Center

0. Resource monitor

3B,

L8

In the given snapshot a word NCO has been linked to
n webpage of sofworld.com with the help of Hyperlink
option in MS-Excel 2000, Which of the following
options would take you to the "sofworld' webpage?

E [rttp/ /i sofworid org/

Holding Cirl key, press on the link NCO
Holding Shift key, press on the link NCO
Simply press once on the link NCOD

Both A and B

onEs

While working on Mail Merge in MS-Word 2010, vou
have placed a merge field code ;: <<Company>> in
your document. Now you want to see how the aciual
data look like in the merged document. Which of the

following features would 1oggle between the merge
ficld code and actual data?

v

c. | af

0. All of these

38,

39,

You have inserted two action bultons {Previous and
End) at the bottom of the slide as shown here. Which
of the following uctions can be added to these action
buttons in MS-PawerPoint 20107

<l [

A, They can be used to go to the previous or next
slide.

I3, They can be used to run a program like Google
Chrome,

C. They can be used to end a slide show,

D, All of these

Seclect the odd one out {Regarding automatic data
entry device).

A.  BRarcode reader

B. OMR
C. 0OCR
D.  Keyboard

— SQF|1E"‘NCD|C¢I&S&-?|$B!=E|LWEI1 =
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411,

41.

42.

46.

In the given hierarchical diagram (showing the
categonzation of Application Software with examples),
which of the following options can replace the numbers

‘@ and ‘@ respectively?
IAppIicaliun Software

reneral purpose
software
For e.g. Inventory

F -
contral software oree@
A, Special purpose application software, MS-Word

B. Special purpose application sofiware,
MS-PowerPoint

C. Utility software, MS-Excel
D.  Both A and B

With the help of which software the following tasks
(given in steps) can be done on a PC?

At first, the documenti is scanned-—sthen, captured as
an image--rsoftware then process the image—converts
its content into separate text characters—swhich can
be editable by Word processing software

A, OMR
B. MICR
C. OCR

D IMR

For which of the following reasons, ROM is suitable
for storing the program instructions. the computer
needs for its start-up process?

A, The content of this memory cannot be changed.

B.  Software on the ROM memory, called bootstrup
loader, 15 written in machine language.

C.  ROM can also be suitable for auxiliary storage,

D, All of these

You have performed the given steps in MS-Word
2010,

(1) Insericd two figures with the caption “figure] " and
“figure2’.

(i) Inserted cross referénce link in the document as:
see figurel see fipure2

(iil) Deleted the figurel along with its caption

(iv) Go to the area where vou have inserted cross
reference link ie see figurel

(v) Select and update the figurel field in the eross-
reference link.

What message will it show after performing these

steps?

Error! Reference source not found.

figurel 1= deleted. Insert new fgure!

Insert another Cross-Reference of name figurel!

Error] Change the reference of figurel

uagE>

43.

44,

45.

47,

Twa dilferent ways of using DO LOOP statemenis in
QBASIC are given. In which of the following case,
statement would run atleast once, no matter what the
statement inside the loop 157

Case (1) Case (i1)
DO WHILE <CONDITHN= Do
STATEMENTS STATEMENTS
LOOP LOOP WHILE <CONDITION=

A, Only Case (i)

B.  Only Case {ii}

C. Both Case (i) and Case (ii)
. NMeither Case (i} nor Case (i)

What 15 the name given to the lemporary storage
area between the hard disk and the processor, which
is used when there is speed mismatch between the
speed of the data processing and Input/Output?

A, Laser
B. Buffer
. Jitter

D. Converter

Which of the following statements hold true about

CD-R and CD-RW?

¢ Both CD-R and CD-RW can read many

times, and CD-R can be used for backup/
archiving data.

Statement 2 : Both CD-R and CD-BRW can only read
once, and none of them can be used for
backup/archiving data,

A, Only Statement |

B.  Only Statement 2

C. Both Statement | and Statement 2

D, MNeither Statement | nor Statement 2

Statement |

Observe the given snapshot carefully, What will happen
when a user click on highlighted portion “show 2 in
the given drop-down menu of MS-PowerPoint 20107

[ ﬁ Custom Showys...

A, Slides contained in this custom show will get
displayed in Normal view,

B. Custom Shows dialog box will get displayed.

C. It will start a full screen slide show of selected
custom show e “show 27,

D, It will create a copy of show 2 ppt.

e




48, Cell Al contains a date in system’s date format, Le. A, TF N<=0THEN EXIT

MM/DDYY ¢ 3/152016. What would be the result B. IF N < 0 THEN EXIT FOR
if you enter =A1+5 in cell A2 in M5-Excel 20107 C. IF N=0 THEN EXIT
A, R/INS2016 . FOR N<=0D

B, 32072016

C. 8202021 _ :
D 87202016 the Wireless Transmission media?

50. Which of the following statements hold true aboul

Statement | : When antenna transmits Radio Waves,
49.  Which of the following statements would replace the

i . it sends out the signals in all dircctions,
40" im QBASIC code in which user has to enter 10

positive numbers, if the user enters a negative number, therehy maling Mantabin 200 1ang
the program control should come out of the loop and distance broadcasting,

execute rest of the statements? Statement 2 ¢ Bluetooth LAN can be connected 1o the
SUuM =10 internet il one of the gadget has this

FOR i=1 TO 10

: capability

-I’NI’lIT N A, Only Statement |

. 3. 1 t2

SUM = SLUM + N E [‘B:'“I:: :t“:emff" 1 and St 3
NEXT | . u1 glement | and statement =
BRINT  SUM 3, MNeither Statement | nor Statement 2

SPACE FOR ROUGH WORK
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4.

A man walks 7 km towards North. Theén he ums o
East and walks 12 km. Afier this, he turns to North
and walks & km. Again he turns towards East and
walks 8 km. How far is he from the starting point?

A, 10 km
B. 13 km
C. 15 km
D, 23 km

Which of the following options most closely resembles
the waler image of Fig. (X)?

KICK

-

CODE

Fig. (X)
ADIA CODE
A | Cmm B, | mm
4007 KICK
CODE CODE
C | Cwm D. | =
KICK KICK

In the given diagram, circle represents people who
live in joint family, triangle represent school teachers
and square represent married people. Then by which
letter the married people who live in joint family but
are not school teachers are represented?

A, C

> 3 b4
C. D
D A

A

Find the figure which will replace the (7) in Fig (X).

A, /
l—‘
e
LA
¢ &
-
o
4

Five girls are sitting on a bench facing North. Megha
is to the left of Beena and 10 the right of Priya. Latika
is 10 the right of Beena. Garima is between Beena
and Latika.

Whao is sitting in the middle?

A, Garima
B. Latika
C. Megha
0. Beena

Four different positions of a dice are shown. Which
number will be on the face opposite to the face
having number 37

5 6 3 4

ﬁ3 23 4ﬁlj

op >
LT T

D.

Pointing to a photograph Mr. X said to Mr. ¥, “She
15 the only daughter of the father of my maother".
How is X related to the person in the photograph?

A, Sister

B. Son
C.  MNephow
[, Brother

The question consist of a set of three figures X, Y and
Z showing a sequence of folding of a piece of paper.
Fig. (Z) shows the manner in which the folded paper
has been cut. Select the figure from the options which
would most closely resembles the unfolded form of
fig. (Z).

If the digits of each of the following numbers are
written in reverse order and the obtained numbers
are written in decreasing order, Then, what will be
the unit digit of the fourth number?
476 629 357 184 536 863

Al
H.
C.
D.

[FY R TR -

WSﬁflTWNEDIGH&ﬂlW'BIWB’T -_—
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12.

In which of the following options, Fig. (X)is exactly
embedded as one of its part?

N

Fig. (X}

Which of the following actions will help you to free
up space for new programs and documents in vour
computer with Windows 77

(i) Transfer the content (which is no longer needed)
to Reeyvele Bin.

(i) Move some content o another storage medium

such as pendrive.

Only (1)

Only (ii)

Both (i) and (11}

Meither (1) nor (i1)

gsnNneE>

You want to nccess an audio lile which is physically
located at the end in the memory of the storage deviee.
Which of the following storage devices will allow
you Lo access that audio file directly without having
1o play the previous files?

A., Bg

C: D. BothAond B

Complete the given diagram by replacing 7", The
diagram represents the “Structure of a National 1SP”,
in which local 1SPs are connected to *?"{which you
are required to identify) and *7" is further connected
to National ISP,

(Note: €3 in the image represents ROUTER)

Couniry ISP
Wold ISP
Regional ISP
Boih A and B

on®>

14

15,

17,

P 15“”50|C}353.B|55[-B|ng1”59|?_

| have enabled a feature in MS-Word 2010 decument,
such that whenever | press TAB key, an arrow is
displayed instead of TAB space. Which of following
Ward Options would convert the TAB space into the
symbol as shown here?

Hi —* | am —* Bemy

A, General
B, Display
C. Language
D, Proofing

In MS-PowerPoint 2010, which of the following
features would convert the smiley and arrow symbols
into special symbols as shown here?

Ao AutoForm : Converted
)t

B, AuloSymbaol
Convevted

C.  Autolaterchange
D.  AutoCorrect

Which among the following is an example of real
time opérating system?

Windows

LINLIX

UNIX

Lynx(S

onw>

o _are like multiple film strips stacked on top
of ane other, cach containing a different image that
appears on the stage in Flash CS6,

A, Animations

B.  Timelines

C. Layers

D, Kevirames

Select the INCORRECT match regarding the formula
of MS5-Excel 2010 referring to the values shown in
the snapshot (on left hand side) with their results
{on right hand side).

(1] 28 14
2] 10
A =IF(AL12=0,"even","odd") - even
B, =IF{Al=28.B1-Al) - -l4
. =IFA1=B1,TRUE, - Ok
IF(B1=A2 "False","OK™)
0. =lFAl=28.A1-B1," ™) 14
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In a university, students who need to access the
university resources needs to be authenticated during
the logging process. (o protect the interests of the
university and the students. This process of verifying
a user is called

A, Message Authentication

B, User ldentification

C.  User Integnty

D. Both Aand B

This is the snapshot of a notification that informs
the user that a new removable drive 1s attached in
Windows 8.

Suppose you have opened Documents library and
typed ~?Tv in the Search box of Windows Explorer in
Windows 7, then which of the following document’s
name would be displayed as the result?

(i) saved (1) level

(iii) invoice (iv] voice-over

vy wvoee

(Assume, these documents have already been saved
in your computer)

AL (1), (i) and (1)

B.  Baoth (iv) and (v}

C.  Both (i) and (ii)

D. Only(v)
24,  Which of the following data types is being represented
by these checkboxes in the given snapshot of
MS-Access 20107
A YesNo reld Y
Which of the following statements is CORRECT B,  Generl
about this type of notification? C. Currency
A It is known us notification bubbles or desktop D Memo
malification, ; 25,  What would be the output of the given HTML code?
B, It usually disappears automatically after a short
fri <himl>
amount ol fme. _ . . <hody>
C. !l. does l.'lﬂl force the user (o react to this notification <hI=<b=<i><u>0rdered List<fus<i><b></hi>
immediately. ol
D. Al of these <li=Milk</i=
i o <> |
What waould be the result if you type a formula: {:;};zﬁtm::ﬂlib
=COUNT(A1:B3) regarding the data given in the hib
S-Excel 2010 7
MS-Excel 2010 snapshot </body>
A3 A& |[°B | </html>
B. 4 " Divine” : A Ordered List B.  Ordered Li
D. 6 2 vl ! 1. Milk | Milk
_—— 2 Yoghurt 2. Yoghurt
A rule is set in Field! of a table, such that whenever 3.Butter Milk 3. Butter Milk
a number less than 5 is typed in it, an error message . . .
{us shown here) is displayed. Which of the following - Ordered List ».  Ordered List
features would let you set that rule i.e only number . . . 5
greater than § is allowed in Field] of MS-Access L Milk i Milk
20107 ii. Yoghurt ii. Yoghurt
o iii. Butter Milk iii. Butter Milk
A % oA " Click to Ackt « 26. Which of the following shorteuts is used to italicized
the selected text in Flash CS67
|*_| {Mote: Assumne that the Font Family is: Times New Roman)
B. .
i
. ‘ Wurgt Vabvm Sust be g ool 3 B M L u
c E@ ) el 5. [=]+[']
e C [l:l.rl ] 5 ;i}m +| i I
D. q B = .
o [=]-[]
e —

SUF | 16" NCO | Class-8 | Set-B | Level 1 e



t—— 16" NCO | Class-8 | Set-B | Lovel 1 | SUT se—

27.

28.

29,

30,

What would be the output of the given HTML code
if there is no image file, named-as “Dolphin®™ in the
system in which the file is hosted?

<img src="Daolphin.jpg" alt="Dulphin" hisrder="5">

= 3.
A. [ Dolphin] B, |BEDolphin|
C.  Dolphin [ |No Image
= Prolphin
Which of the following topologies wse a multi-point
connection in which a terminator is added at ends of
central cable, to prevent bouncing of signals and i
interrupt all the transmission between the devices if
a fault or break occur?
O O
A B g
&8 :
C. D. Al of these
What would be the output of the given HTML code?
<html=
“bady> 33,
<l--Welcome back-—>
<hl> <b> helle </b> </hl>
<h2> hello </h2>
<h3> hello <Mh3>
</body=
</html>
hello hello
A e B. bute
il ks 34,
o.M ey -
bello D. hello
Pl balls
harlls
hills

The given snapshot indicates the following settings:

*  Whenever you insert any cells in the table it will
be highlighted with light blue color

+  Whenever you delete any cells in the table it will
be highlighted with pink color,
Why such settings are required in MS-Word 20107

T e

A.  To combine the laest version of file with their
previous version.

B.  To highlight the changes that have been mude ©
a table in a document.

C.  Torestrict the people from doing normal changes

1.  To preserve the latest version of document for
futwre use,

Which amang the following statements marked as (i),

(11), and {iii) holds true regarding, why we cannot use

infrared waves outside the building?

(1) Pecnuse the sun rays contan infrared waves thal
can imterfere with the commumication,

(i) Because infrared waves, huving high frequencics
can penetrate walls,

{iii)  Becouse infrared woves are uni-directional,

A, Only (i)

B, Only (i)

C.  Both (1) and (n)

Y. Bath (1) and (iii)

—

Which of the following output is CORRECT if you
type the given formula in MS-Excel 20107

(Note: Cell Al = 2015)
=REPLACE(AL3.2,"167)

A, 2016
3. 1620
. 16

D. 0216

The process of buying and selling of goods and
services through wireless handheld devices is called

M-Commerce

A

B.  H-Commeree

. Short-commerce
B

Metro-commerce

Observe the given snopshot found in Settings oplions
of Google Chrome browser. 1t shows that first page of
www sofworld org is set as the home page in Google
Chrome. What will happen when you click on the
area marked with eirele?

Appearance

W Show Home button

A, Tt will open a dialog box that let vou change the
home page of the browser.

B. It will open a dialog box that let vou change the
case of URL from lower case to upper case.

€. You can change the appearance of the Home
button.

. Al of these

e —




—————

35,

36,

T

38:

(a) Speech i1

(b} Woice {ii)

(¢} Speech (iii)

Select the odd one out.

In Windows 7 you can install the Windows without

any license key for 30 days. This time period is called

Grace Period. But you can extend the grace period

by additional 30 days if you are not ready to activate

Windows. Rearrange the given steps in CORRECT

order to extend your activation grace period by 30

days in Windows 77

(i) Restart your compuier,

(i) Open Command Prompl window using Run As
Administrator option.

(ii) Type simgr — rearm

A (i) — (iL) — (i)

B. (i) — (i) — (i)

C. (i) = (i) — (i)

0. (i) = (i) = i)

What does the icon marked as @ represent in the given

snapshot of MS-Access 20107

The data type of Field] is of Date/Time.
The data tvpe of Field] is of YesMNo.

Only currency values can be entered.
Only hyperlinks can be entered,

oo

Match the devices in Column-1 with their applications
in Column-11 :

Column-1 Calumn-11

For authentication of a user
by a computer system based
on speech mput.

Automatic answering machine
that tells about vacancy status
of a flight or train.

Foreign tourist who don't
understand hindi, would enter
the text in the system, to
communicate, then the system
converts it into spoken words
in Indian language.

(a)-(i}, (b)-(ii), (c)-(ii)
(a)-(ii), (b)-(i), (c)-(iii)
(a)-(iii), (b)-(ii), (c)-(i)
(a)-(ii), (b)-(iii). (e)-(1)

recogmition
system

reproduction
system

synthesizer

unee>

Which of the following features of Windows 7 will
allow you to set the following settings in a laptop?

- To adjust the boghtness of your computer.
*  Toincrease/decrease the yolume of your compuler,

. To turn on/ofl the presentation scttings when the
system is connected with projector,

B. Ta!

Identify the type of virus from the given symptoms:

— [t attempts to attack both the boot sector and the
executable or program files at the same time,

— This virus may also take different actions on an

— This type of virus spreads in multiple ways,
— It may also depend on the existence of certain files

C. Web seripting virus

The snapshot given here shows that the word
“Unit" is being dragged from one place o another in
MS-PowerPoint 20010, Which of the following options
will replace the "7 in the given steps if yoo want
to disable this dragging and dropping of words in

UNIT 1

File tab— Options—? — Editing options — Clear
the checkbox named as: Allow text w be drageed and

A, Click on “Advenced” in PowerPoint Options window
B. Click on “Language” in PowerPoint Oplions

C.  Click on “Digplay™ in Proofing dinlog box
D, Click on "General™ in Format dislog box

39,
|
4,
infected computer.
on the PC.
A, Multipartite virus
B. Sabotage virus
D, Tunneling virus
41,
MS-PowerPoint 20107
dropped
window
42,

Select the INCORRECT mateh.

A LINUX - UNIX like operating system designed
for personal computer.

i05 like operating system, developed
by Apple Inc.

Mohile operating system, owned and
maintained by Google, lts relenses
are nicknamed after sweets and
desserts items.

An operating system which was
primarily used by Nokia.

B. Solaris

C.  Android

.  Symbian -

—— ) | | 168" NGO | Class-8 | Set-B | Level 1
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Which of the following statements hold true about
OMR?
Statement | ¢ It iscapable of detecting alphobetical and
numeric characters on a page of typed
or handwritten text.

Statement 2 ¢ It transcribes the marks (made on the
paper with dark peneil) into electrical
pulses that are wansmitted to the
COmputer.

A, Only Statement |

B. Only Statement 2

€, Both Smtement | and Statement 2

D

Moither Statement | nor Statement 2

Letter quality printers prints characters that have the
same quality as that produced by a typewriter. Which
among the following produces letter guality prints
and is an impact printer?

Daisy wheel printer
Dol matrix printer
Laser printer

Inkjet printer

cno® >

435,

In the given block diagram, '@ isa type of memory
that even if stores about 1% of the data, stored in
primary memory, the average memory access lime
reduces significantly thus improving the overall
performance of the computer, Identify '@

o Primary
CFi g | memory
A, Memory stick
B.  Blu-ray dise
C. Cache
D, Control unit

46,

The given snapshot 1s a kind of reminder that is displayed
in the backstage view, by ‘Check for lssues” feature,
indicating that vou have some hidden text in your
document. Which of the following Check for lssues
options (displayed when its drop-down button is clicked)
would remove the hidden text, if you don't want those
text to share publically in MS-Word 20107

Prepare for Sharing
@ Bedore sharing this fife, be aware 1hal [t containg
Check for *  Characters formatted as hidden text
WL, 08|

A.  Inspect Document
B. Check Accessibility
. Check Compatibility
D. All of these

47.
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When you start recording the slide show in
MS-PowerPoint 2010, the dialog box shown here is
displayed which gives you the option whether you
want to record the slide or animations tmings and
narration and laser pointer. Which of the following
statements holds true about the given dialog box?

et whal o et i revond Before pomi Sege recordeg.

IV SRk aad eranston Pty

Statement | : This dialog box is displayed only if you
have animation or narmtions inserted in
your slide,

Statement 2 : [t is displayed only when we stari
recording from the first slide, in any

other case, it will not be displayed.

48,

A, Only Statement |

B.  Only Stalement 2

€. Both Statement 1 and Statement 2

D.  Neither Statement | nor Statement 2

The 1mage shown here represents the downloading
of audio/video fil¢ from the web server. The process

of communication is shown by numbers marked as
0. © 11d © in the image, which are explained below:

Browser o 5 W
..._L server
19

Media
Player

@ Browser sends the requests to the web server to
download audio/video file.

@® Web server sends the response back to the web
browser by sending compressed audiofvideo
files.

® Then, Browser use Media Player to play the
downloaded file,

Which of the following protocols is used in this

approach?

A. NNTP

B. Media Secure Protocol
C. HTTP

D. TELNET




49,  Which of the follewing statements holds tue abou T e |

A B R
the given HTML statememt? 1 Product Price
ol type="square" i Jackat 50 i
Statement | Fype="square" 10 <ol tag is used 1o :
mark the items of the list with square 5 Month 16% feb March
symbaol, such as; 0 Wireless 5 | Reduction | 205 ] 40% %
Statement 2 ¢ The given statement 13 nol correct 2
because type="square” 15 assocuted with £ | Prica-manth lan Feb March
<ul> lag a lacket |=5352'{i-t‘-55”
A Only Statement 1
B.  Only Sttement 2 What would be the result in cells B9, C9 and D9
C.  Both Statement | and Sttement 2 respectively, after vou press Enter in cell BY and
D, Negher Statement | nor Statement 2 then dreag the formula across cells C9 and D97
50.  Observe the given snapshot of M5-Excel 2000, which A, 30,60,10
shows you price of an itlem named Jacket and iis B. 403040
discount/reduction rates n different months. [t also C. 60,5070
shows you a formulas writlen in cell BY O, 10,20,50

SPACE FOR ROUGH WORK
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Selecta figure from the options which will continue the
same series as established by the Problem Figures.

Problem Figures

BECRRE
A X B
X

Y is 1 the East of X, which is o the North of Z, IC P is

2
to the South of Z, then P is in which direction with
respect to Y'?
A, North
B. South
.  North-East
. South-West

3. AB.C DE F, Gand H are sitting in a circle facing
the centre. E and G always sit next to each other, D
sits third to the right of C. F sits second 1o the left
of H. € never sits next to A while D) never sits next
to . H is not the neighbour of D and C,
Three of the following four are alike in a certain way based
on their positions in the seating arrangement and so
form a group. Which is the one that does not belong
1o that group?
A, CH
B. BA
C. DG
D.. AC

4. Ifin each of the given words. cach of the consonants
is changed to previous letter and each vowel is
changed 1o next letter in the English alphabetical
series, in how many words thus formed will no
vowels appear?

RAG FIN PUT LOW SUE

A, Mone
B, One
C. Three
D, More thin three

5. Select a figure from the options, which when

placed in the blank space of Fig. (X) would complete
the pattern.

b

7.

9.

B

Fig. (X)

7 R

Count the number of triangles in the given figure.

A9
B 10
€ A4

0. None of these

In a certain code language, YOUNGSTER is written
as UYNOTGRSE. How is EXPENSIVE written in
that language?

A.  PEXEINESV

B, PEEXNIESV
C. PEEXINESV
D. PEEXNWSE

The question cansists of a set of four figures P, X, Y
and Z showing 1 sequence of folding of a piece of
paper. Fig. (Z) shows the manner in which the folded
paper has been cut. Select a figure from the options
which would most closely resemble the unfolded form
ol Fig (Z).

NN
K%
c.L_J D.EB:

In a row of girls, Purnima is eighth from the right
and Bhavana is twelfth from the left. When Purnima
and Bhavana interchange their positions, Bhavana
becomes twenty-first from the lefi. Which of the

S@F | 16" NCO | Class-0 | Set-B | Lovel 1 s



| following will be Purnima's new position from

| the right?
! A, 8

| B 1

' C 21t

D. Data inadequate

10. If ambitious is equivalent to ¢irele, females to
| trigngle and sincere to rectangle. Which number will

represent female members who are sincere but not
ambitious?

11. Given text shows the Cross Reference link to the
Figures, named as Figure 1, Figure 2 and Figure 3
in your document in MS-Word 2010,

See Figure 1
After pointing the cursor on the Figure 11in the given
Cross-Reference link, which of the following keys
would take you to the image, named os Figure | in
your document?

A, Cul + Click

B, Shift + Click

C. Alt+ Shift + Click
0. Shift + Cul + A

Figure 2 Figure 3

12, In which of the following types of printer, 8 scanned
image of fle 1o be printed is written on a copier drum
as shown in the given printing mechanism?

—_———

A, Chamn Printer B.
. Laser Printer D:

Drum Printer
Duisy Wheel Primer

13, Which of the following kind of lost document {murked
with €13, (1) and (i) can be recoverable in M5-Word
20007

(i} Document lost due to some error that forces you
to gquit word document.

(i) Document lost due to power interruption while
editing.

(i) If you close the document without saving changes.

A, Both (i) and (i) B.  Only (iii)

C.  Both (iiyand (i) D. (i), (i) and (i10)

e 6% NCO | Class-0 | Set-B | Level 1 | SUT e—

16,

Select the INCORRECT match,

Application Seftware
Packages

Commaonly Supported
Features

A, Word-Processing — Emering and editing text,

package formatting text, importing
text, searching and replacing
ext string
B. Spreadshect - Rows and columns, relative
package and absolute cell addresses

C.  Graphics packuge — Draw designs, present graphs,
drag and drop objects, screen
capture, import objects
Checking bool programs,
fixing crror for operating
sysLem

. Personal sssistance
packape

The icon marked as circle 15 of Paste Options that appears
when you copy and paste the text in MS-PowerPoint 2010,

Accent

Which of the following options would replace the question
mark (7) in the given steps o hide this Paste Optlions
button?

File tab — Options — (7) — Cut, copy, and paste —
Uncheek “Show Paste Options button when content is
pasted”

A.  General B,  Advanced

€. Languape 0.  Proofing

Identify the following standard organization,
It is o multinational body whose membership
is drawn mainly from the standards creation
committees of various governments throughow
the world.
- It promotes development of standurdisation o
fucilitate cooperation on scientific and technological
aspects.
150 { Intermational Organization for Standardization )
ANSI (American National Standards Tnstitute)
RFC {Request For Comment)
NAP (Mational Access Point)

enmEeF

—E—



In the given snapshot, Cell Bl contains a formula:
= Al+A2. Trace the relationship among these cells
(ifexist) by using Trace Precedents for cell Bl and Trace
Dependents for cells Al and A2 in MS-Excel 2010.

L4 A | B
1 5 11
2 [
Trace Precedents Trace Dependents
AL | A 8
1 =5 1
1| ~E
Al .E_ B
B. | e 1
/] &
_J] A 8 A= B a1
C Bl s _lrat Bi s 11 '
2 2 -1’/'

D. Mo precedents and dependents are found.

IF
 Weondition
¢, THEN oo ELSE

B S ¥
[ Process 2 |
|

| Provess | !

W

|

p. THEN FLSE

.rmclémf ,fs-mil:mf

L4

What would be the output of the given Visual Basic code?
Private Sub Command!_Click()
Print "Hello" + "World"

Print "Hi" & " * & "Friends"
18. Toner is a powder used to form the printed text and End Sub
images on the paper. Which of the following is an A, HelloWorld B, Hello World
example of toner-based printer? Hi Friends Hi Friends
A.  Inkjet printer C. HelloWorld . Hello World
B. Thermal printer HiFriends HiFriends
: inte
E ;ﬁ:‘;& ;mer 22, What would be the output of the given HTML code?
- <table border="1" cellspacing="10">
19. Which of the following formulas can be used to <Ir>
caleulate the sum of data of cell Al of Sheet] and SRS Name<ihs
cell Bl of Sheet2 into any selected cell of Sheetd of 4
same workbook in MS-Excel 20107 <th>Class</th>
A, =SUM(Sheet!!Al Shect2!B1) <=
B.  =SUM(Sheet] +Sheet2,A1,B1) 2 g
€. =SUM(Sheet] Sheet2, A14+B1=C1) <td=Anu<iid>
D. =SUM(Sheetl Sheet2! Al+B1) <td>8<sup>th</sup>=</id>
— e i
20. Which of the following flowcharts is CORRECT f’ =
for the given programming instruction? </table>
IF Condition — T
THEN Process | A [Chan] g, | Damel ey
ELSE Process 2 [rou ] s ] LA | By
ENDIF
8 Name Class p, |Name Class]
" :
{consdition) Anu - B, [Anu| [ ¥ ]
A. THEN ELSE 23, ltisone of the major problem faced by new animators,
/Prcesl/  [Prcend/ where they end up making the one half of an animated
— — T character’s body to move and behave like its other
wL half, making the character appearance unnatural, What
is it called?
¥ i
Jeomdinin) A, Twinning
B. THEN FLSE 8. Morphing
. | C.  Scaling
Process | I Process 2 D.  Tuning
v
SUF | 16" NCO | Class-9 | Set-B | Level 1w
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26.

Which of the following statements hold true regarding
unguided transmission medium?

Statement | © Itis referred as wireless communication,

e, the signals are normally broadcasted

through free space and thus are available

to anyone who has a device capable of

receiving thom,

Statement 2 @ Twisted-pair, coaxial cable and fiber-
optic cable are the examples of it

A, Only Statement |

B.  Only Stement 2

C. Both Statement 1 and Statement 2

D Neither Statement | nor Statement 2

Given below are two shapes drawn using rectangle tool
in Flash CS6. Which of the following properties of
rectangle tool was modified to change the appearance
of corners from Shape 1 to Shape 2 as shown here?

A, Stroke

B. Style ‘
C. Scale Shape | Shape 2
. Join

What does the fcon marked as @) indicate in the given
snapshot of Shide Master view in MS-PowerPoint 20107

A. It ensures that the Shide Master would not be
deleted even if it is nol in use,

B. It ensures that the slide is locked and editing has
been tumed off.

C. It indicates that the shide cannot be used in Muture.

. Both Aand B

27

Identify the type of protocel with the help of given
diagram and description,
It is a stateless protocol, in which client computer
sends a request message and server replies by sending
A TESpONSe message.
= It is like SMTP because data transforred between
client and server look like SMTP messages.
It functions as a combination of FTP and SMTP.

Reguest
Messuge

_.,,_p—-“*_—'_“‘-—a.
fee i® o}

Reply back

Client Cosmipiuter
A, NNTP
B. HTTP
C. POP
D, IMAP

Server

28.

29,

30,

il

What does the address of websites Google and Yahoo
in the given dialog box of “Startup pages” of Google
Chrome represent?

Statag pager o
[ Q== Iimye e e
| R T e s s
eTe—— [mm ]
[T Lo Lo |

A 1t means that they have been set as startup pages,
i.e, Google and Yahoo pages will appear whenever
you open Google Chrome browser window.

B. It means, either Google or Yahoo page will appear
when you open Google Chrome window.

C. It means whenever you open Yahoo or Google
homepage, the Google Chrome browser will show
# message: “Access Denied!”

D. Al of these

Select the odd one out.

A. o B.
'i‘l“ff
- @ P soraris

is a computer worm that propagates by e-mail
from Microsoft Windows systems, that begins with the line
of text: *I send you this file in order to have your
advice” and has an attachment consisting of the worm's
executable with some file from infecied computer.
A.  Boot Sector

el

Cpiwrm M

B. Sircam
C. Trojan Horse
D.  Acid Rain

Which of the following effects can be achieved by
Windows acro feature of Windows 77

(1) Trunsparent window frumes

(i1} Live previews of running programs via buttons on

the taskbar
(i) Smoother window dragging
A, Only (i)
B, Only (i)

€. Both {i) and (ii)
By (1) (1), and (i)
What would be the output of the given Visual Basic

statement’?
Print Mid("Adminisiration™ 2,3)

A, dmi
B. Dmi
C, sir
. Sir




RER

Which of the following line of code would display
the given dialog box in Visual Basic?

A MsgBox “Hello studenis™ & ** Welcome!!"™

B, IoputBox “Hello students™ & * Welcome!!™

C. MessageBox “Hello students™ & “Welcome!!™
D, ProjectBox “Hello students™ & “Welcome!!™

Which of the following HTML statements specifics

the language of the linked document?

A <a href="hup://www.sofworld.org"
hreflang="en">0lympisd-</a=

B. =a hrelf="htp://www.sofworld.org"
ilang="en">0lympiad</a>

C. <a href="htp://www.sofworld.org"
language="en">Olympiad<ia>

D. <href="htip://www.sofworld.org"
language="en">Olympiad<ref-

You have enabled a feature which shows a warning
message as shown here, whenever you type anything
in any cell of the worksheet. Which of the following
features will prompt this warning message in

i i\ The cell or chart that you are trying to change
£3 5

is protected and therefore read-only.

0. All of these

34,
3s,
MS-Excel 20107
. EB :
L1
c. HH
36.

———

Which of the following shapes should be included
in the statements (marked as (1), @) and @) in the
given flowchnn?

CStart >

v
Head
f:DT::lnpu:mt-m-n:

Prant Prim

@)oo, e
L |
s O/ Jo-/ o[ ]

3.

38,

E1IR

41.

B @-C}@—{}@--[ ]
O- ]

3)-

c. O | @-

5,
N

o-{ @l

=

Which of the following statements hold true regarding
HTML?

Statement | : Toshow the ouside border on all four sades
of the table, use <table frame=""hox ">

To specily the width of a table in pixels
or percentage “wide™ attribute is used,

Cinly Statement |

Cinly Stutement 2

Both Statement 1 and Statement 2

Neither Statement | nor Statement 2

Statemient 2

SNnEe

Earlier, to print a document. you need o copy it o
USE fash drive and then carry it to the computer to
which the printeris attached. Which of the following
features of Windows 7 would eliminate this approach
and help you to share resources among your computer

at home?
e e
D. All of these

. i

Select the odd one oul regarding random access storage.
A, Hard disk

B. RAM

C.  Flash drive

D, Magnetic iape

Which of the following statements 1s CORRECT
regarding fifth generation computer?

A ICs with ULSI technology is used

B, IBM notebooks are the examples

C.  1Cs with MSI technalogy was introduced

I3, BothAand B

Which of the following options marked by numbers
1. 2 and 3 indicate the current frame number of playhead in
Flash C867

A
B. 2
o3
Do N

one of these

SOF | 16" NCO | Class-9 | Sot-B | Level 1 =



42, Select the odd one our. (Regarding data scanning device),

| “',a
i - &

43, Which of the following statements hold true regarding
the difference between compiler and interpreter?

Statement 1 @ Interpreters are slower than compilers
when running a finished program,
Statement 2 ¢ Interpreters require less space forexecution
than compilers,
A, Onoly Statement |
B. Only Statement 2
C.  Both Statement 1 and Statement 2
D. Neither Statement 1 nor Statement 2
Select the INCORRECT match regarding the given icons
with their corresponding use in MS-PowerPoint 2010,

A, .! ~  To change the laser pointer color

that can be displayed while playing
slide show.

43,

If you want to keep the slides
with supplementary information
hidden while presenting slide
show and you can continue with
your presentation without visibly
skipping over slides,

Enables youto havethe several shows
within the same presentation.

You can record a narration, and
run through the presentation and
record each slide. and can pause
and resume recording any time,

When using image scanners for inputting text documents,
it is not possible to do any word processing of the
document, since the computer cannot interpret the
stored documents as letters, numbers. Which of the
following technology overcomes this limitation of
image scanner?

A, OMR B OCR

C. MICR N VOR

46. To find e-mail messages you received in beiween
September 2015 and October 2015, you should type
in Start menu search box of Windows 7.
(Assume your system date format is in the form of:
MM/DDYY)

A, recerved: 912015 | 100312015

B.  Get: from September 2015 to October 2015
C.  email: from September to October 2015

0. email: from Sep to Oct- 2015

47, What would be the output of the given Visual Basic
code?
DIM 1, N As Integer
! N=1
For 1=10 To N Step - 2
| Print 1
N=N+1
Next |
Print “Programs Ends™
End sub
A 1D B, 10
8 9
6 Program Ends
4
2

Program Ends

48,

C 11 D9
9 Program Ends
&
Program Ends

Observe the given snapshot of Watech Window
of MS-Excel 2010, 1t shows that the cell Bl of
the current warksheet has been added there for
inspection. Which of the following statements hold
true regarding this?

Watch Window - "
2 Add Watch., = Delete Watch

Book Sheet tame Cell Value Formiila
Bookl  Sheetl Bl 15 =i2+0

Statement | : Il you change the formula of cell BI
from “=A249" 10 “=A2+4", then the
formula tab of Watch Window will
display an error.

Statement 2 : You can edit the formula used in cell BI
in the Watch Window.

A, Only Statement |

B. Only Statement 2

.  Both Siatement | and Statement 2

D, Neither statement 1 nor Statement 2

16" NCO | Class-8 | Set-B | Lavel 1 1.‘5'“[-" ﬂ



49, What would be the outpul of the given flowchart AL DI12358 B. 2345678

if value of num is 107 C. 0146810 D, 1135810
':: 5““___}‘ 50, In the given bus topology, what happen when there
L — 15 fuult or break in the bus cable?

,J"(_ ‘Read num J
=0 T
y=1 I |
z=1

|
| Dhop | Dvop Drop
is fine line | line

a& ) - il il
Tap Tap Tap
:—:H' 1 A, 1t stops all transmission between the
l Stop > devices,
[ Prmivalucalx J B. Data transmussion will be stopped only for the

1 first station and last station, it will not affect the
A=y intermediate siations.
Y ; 3 C.  Only first and last stations can transmit data,

' - 7 D. Both Aand B

SF"AEE FOR ROUGH WORK
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If the letters of the given below series are written in
reverse order, then which letter will be third to the
left of eighteenth letter from the right end ?

IXYANOFMPBLOQRDSTWCKGUY

EXZ
A O

B. U
C v
D. 8

Find the option which will complete the series as
established by the Problem Figures.

Problem Figures
=3 8|0 ? L - -.
-'ﬁo uéﬁ -Qi ? lA"

A

N
© A

LI

If “When" means *=°, “You  means *+°, *Come’ means
2" and *Will" means *+°, then what will be the value
of *8 When 12 Will 16 You 2 Come 10'7

A ™
B. 112
C. 45
D, 96

Find the options as to how the pattern would appear
when the transparent sheet is folded along the dotted
lime,

D.

Eal
LI

Out of the five car manufacturing companies A, B,

C, D and E, the production of company B is more

than that of company A but not more than that

of company E. Production of company C is more

than the production of company B but not as much

as the production of company ). Considering the

information to be true, which of the following is

definitely true?

A, Production of company D is highest of all the
five companics.

B.  Company C produces more number of cars than
Company E.

C.  The numbers of cars manufactured by companics
E and € are equal.

). Company A produces the lowest number of cars.

Select the option which satisfies the same conditions
of placement of the dots as in Fig. (X}

Fig- (X)
. B
X
- @S

In the following question, two rows of numbers are
given. The resultant number in each row is to be
worked out separately based on the following rules
and the question below the rows of numbers is to be
answered. The operations of numbers progress from
left 1o right.

sWF| 167 NCO | Class-10 | Set-B | Lavel 1w
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Rules:

(1) I a two-digit odd number is followed by a
two-digit odd number they are (o be added.

(i) 1f a two-digit even number is followed by a
mwo-digit odd number which is a perfect squore,
the even number is o be subtracted from the odd
number.

(i) 1 a three-digiv number is followed by a two-digit
number the first number is w be divided by the
second number,

(iv) 1fa prime number is followed by an even number
the two are 1o be mdded.

(v} T an even number is followed by another even
number the two are to be moltiplied,

& 8 32
132 11 X7

If X is the resultant of the first row, then what i the

resultant of the second row?

A 192
B. 12%
. 132
D14

Select the correct mirror image of Fig. (X}

st
What does the option (marked with circle) in the
given feature, f.e, Quick Parts of MS-Word 2010
represent”

B Doosmen Wopiny
Lol
A, Reusable content that vou can store and access
again and again,
B.  Deleted content that you can store and access agoin
and again,
C. Preformatied text box that is used to change the
orientation of text,
D. BothAand B

What would happen when you select & primary
key field named as 1D in a Table (in Datasheet view)
of MS-Access 2000 and click on *‘ button”

A lowill get deleted.

10.

13.

1.

Pointing to a photograph a woman says, “He is the son
of the wife of my husband’s father”, How is the man
relited 1o the woman?

Som

Brother-in-law

Brother

Son-in-law

soE>

Count the number of triangles in the given figure,

A 15
B. 16
C. I8
D,  None of these

B. It would display an information message that :
You can’t delete the ID column at this time.
€. It would delete all the columns except the selected

column,
D, It would display a confirmation dialog box.

Which of the following options in the given image,
when installed between the internal network of an
organization and the rest of the internet (Global internet)
can be used to deny access 1o a specific host or specific
service i the organization in order to implement
security measures?

Chatgniny

. e
Gilobal — Interrial
Internet network(s)

7
Hub
Firewall
Encrypt
Cipher

onEeE



14, Suppose you are viewing the presentation in Grayscale
made. Which of the following ophions will not show
the selected picture i.e Image-1 when printing in black
and white in MS-PowerPoint 20107

lImage-1
f"ﬂu:
A, § 1

tappanst

. [
L/

D. Bmll,-h. _nm.l £

15. An organisation needs to develop a website for their
business. Through the website, it will enable its customer
10 buy products and make payments vis online transactions.
Which of the following is a security technology, that
can be used by the organisation to protect all the online
transactions done on their website?

A, SBL
B. IMAP
c. TCe
D, DHCP

Direction (16-17): Ohserve the given text in title place-
holder in MS-PowerPoint 2010 and answer the questions
that follow, (Assume text is aligned in middle)

G A
: NCO 4
- ST R

16, What would be the result if you select the text and click on
the drop-down button of |1} = and then select “Rotate
all text 90°"7

R e et i o
] Z :
& 8 Q ?
koot R 6
R Y. Y
B. o Q g
: z .
L L o
L il
y 3
¢ 3 Q¢
Buisessisiaiga s o
Qrmemesmees i
D. g NCO B

T s SYpRpp——— P o

17

19,

20.

After following the steps (as in guestion no. 16} and
considering its result, what would be the next resuli
if youchek on the drop-down 1:1f|5% - and then select

m Bight option?

e e y:
A, él NCO l::ll
Brasiasnisg PSS CIGE) .
PTRSR AN ———— o
i = |
B @ o
1 G:
D e i i S e o o
Qrmmeenssnass A sirn s s o
£ :
0 o
16 r
- Pt SRR R E R o
e
D 8 ;
i z i
e S i cimaeily

Suppose you want to focus on a specific range of
cells that you have selected. Which of the following
features of MS-Excel 2010 when clicked once will
automatically zoom the selection so that it almost
fills the entire window?

b. HLJ

Select the INCORRECT match regarding the task perfor-

med in Google Chrome with their keyboard shorteuts,

A, Clear Browsing data - Cirl + Shift + Del

B.  Opens Downloads tab—Cirl + J

C. Opens Task Manager-Google Chrome window —
Ctrl + Shift + A

D.  Exit from Google Chrome — Ctrl + Shift + Q

What would be the result of the given formula if cell Al
contains the value: Nanny Nvpovern, in MS-Excel 20107
=FIND{"N".AL,2)

A8
B. 7
S |
D. 5§

Which of the following networking Features is available
in Windows 8,17

A, Miracast Wireless Display

B. Wi-F1 Dircct wireless printing

C.  Wi-Fi Tethering

D, Al of these

SQF| 16" NCO | Class-10 | Set-B | Lavel 1w



er— 15‘1NCD|C3555+11]|351-B|L31;5|1|F|Q|" ﬂ

Bt
bt

What is the function of the option that is encireled
in the given snapshot of MS- Al.l.cis Iﬂll}“

Data Type: |Mumber
Format: 3 j

A, Increase Decimals
B. Decrease Decimals
C.  Delete Decimals
D Add Percentage
23, Whenever you make any formatting changes in o
document, Word displays a box (marked with @) in the
given image) that shows the formatting details. Which
of the following features of MS-Word 2010 will enable
these details to be displayed?
used odey | .| Frmmetted: fort okl Comakr S
ik ol Bokf
A, Track changes
B. Comment
C.  Language
D, Show changes
24, ldentify the type of topology.
- 11 does not allow direct traffic between the devices as
the devices are not directly linked to one another.
- Each device needs only one link and one 1/0 port
10 connecl.
~  Whole topology is dependent on a single point,
A. Bus
B. Star
C. Mesh
D. Ring
25, 15 a navigation system used to locate objects or
peeple inside a building using radio waves or sensory
information collected by mobile devices.
A, Indoor Positioning System
B. Intelligent Access Systemn
C.  Mobile Plapetary System
D, Space Position Syslem
26.  Which of the following statements hold true regarding

the area marked as “@" in the given snapshot of
Navigation Pane of MS5-Word 20107

Search Decoment _./}.i
] @S
Statement 1 : Ithelps you to search figures, equations,

ete, in your document.

It helps you to navigate between previous
and next page.

Statement 2

30.

A, Only Statement |

B, Ouoly Statemem 2

C, Both Statement 1 and Statement 2
. Neither Sutement | nor Statement 2

Observe the following steps of MS-PowerPoint 2010,

(i) Select a picture (say Picture 1) and apply “Split™
animation effect on it

(i) Select Picture 1 and press Alt+Shift+C

fin}) Click on another picture (say Picture 2) in the
same slide.

What would be its result?

A Picture 2 pets deleted.

B, “Split” animation cffect wall be applied on Pictre 2.

C. Picture 2 is replaced by Picture | and “Split™
animation effect will be apphed o Picture |

0.  Picture | is replaced by Picture 2 and “Split™
antmation effect will be apphed to Picture 2.

defines abbreviation or acronym in HTML.
A.  <abbr>
B. <abr>
C. =<dabv=
D.  <acro>
Which of the lollowing options would replace the "

in the given steps if vou want to change the color of
the gridlines in MS-Excel 20107

File tab — Options — Excel Options dialog box
— 7 — "Display options for this worksheet' —

Grigline color @

A, Advanced
B, General
€. Sawve

D, Proofing

Match the viruses in Column-1 with their descriptions
m Column-I1 :
Column-| Columin-11
(a) Macro virus (i) [tis viruswniten ina program
-ming language which
is embedded inside a
software application such as
MS-Word.

{b) Ransomware (i) It prevents you from using
your PC normally, and
demands that you pay money
to gel access to your PC.

(1) It uses various mechanism
to avoid detection by anti-
virus software.

fa)-{i), (b)-(u), (c)-(im)

(@)-(in), (b)-(iii, (€)-(1)

{a)-(iii), (b)-(it), (c)-(i)

{a)-(1),  (b)-(iii), (e)-{in)

ic) Stealth virus

ocnwE>
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What wauld be the outpint of the given HTML code? 36,
<table rules="rows™>
<Ir=
=th=Punjab</th>
<th=Delhi<Ah>
<lir>
{’_r}

<td=Chandigarh=/td> 37.

<yd=Rohini</id=

<>

</iable>

A, _Punjab Drelhi
Chandigarh Rohini

B.  Punjab Delhi
Chondigarh | Rohini

C Punjab Delhi

© Chandigarh| Rohini
p. Punish Delhi

Chandigarh Rohini

32, Seleet the odd one out.
-
iC
B & Dropbox
c. mozy s
o W)
Cincnghe wiskst
33, Arrange the following storage svstem in ascending
order of their aceess time (from faster 1w slower).
(1) Sequential access storage device
(1) Hard disk
{iil) Main memory
{iv) Cache memory
Al (i) = (i) = (i) = (i)
B (i) = (i) = (1) = (V)
C. (v} =+ (i) = (i1) = (i1}) 19
D, (i) = (1) — (iv) = (i)
34, Select the odd one out (Regarding graphical browser).
A Apple Safari B, Opera Mini
C.  Microsofl Edge 3. Lynx
35. Why machine language programs written for one

computer will generally not run on another computer

with different CPLI?

A, Beciuse each processor has o unigue sel of maching
insiructions,

B. Because machine instructions can only be executed
in Network environment.

.  Because machine instructions can be execuled in
Distributed network environment only.

D, All of these

38,

Which of the following technology 15 NOT relared 1o
Fourth generation of computer?

A, GUI rechnology

BB Apple || computer

¢ IBM notebooks

0. UNEX operating sysiem

In the given disgrom of “Basic arganization of computer
system’”, the area marked as 7 actually does not perform
any actual processing of jobs, It obtains instructions
from a program stored 1n main memory, interpreis the
instruciions and issues signals cousing other units of
the system to execute them. Identify it

Storage ua
| Sacomben|

Program__ [ Inpul ,‘ e S -'--p."l ”’"'T”;?—ﬂn&nlmuu
unidnes | i | fmiary - iBesulis)
.L‘@;IU-

|
o |
A, Bufter
B Contral unit
C. Cache
[ Registers

Which of the following tasks (marked with (1), (i}

and (ii1)) require Speech recognition deviee?

(1) Forauthentcation of o user by a computer system
hased on speech input.

(i) For limited use of computers by individuals with
physical disabilities.

{iii) For data input by dictation of long text or passage
for later editing and review,

A, Both () and (i)

B.  Only (i), (ii) and (ii1)
C.  Both (ii) and (iit)

. Only (i)

What would be the outpul of the given HTML code?
=html=

<body=>

=p=0OLY MPIAD</p=

=p><bdo dir="rtI">0LY MPIAD</bda></p>

</body>

</html=

A OLYMPIAD
DAIPMYLO

B OLYMPLAT
OLYM PIAL

c OLYM PIAD
PIAD OLYM
DAIPMY L)

2 OLYMPIAD
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400 Match the following ieons of Control Panel of Windows 7 42, Which of the tollowing is o hosted online version

in Column-1 with their funetions in Column-Il, of the Microsall office with access to Word, Excel,
Column-| Column-I1 PowerPoint, ete?
“” F_._“_ "” (?{W‘ITI‘I.'IL*’-'HE'I.\' “I'ltll-lfﬂliﬂll!. area AL {.“ﬁi.'l." ) B. 'Dl'ﬁc:u' 365
LR ;I".Punﬁ ““ th,:- |n-ﬂ;b:‘r (1. [“T“:l-' Sﬁﬁ‘ [] ﬂﬁ'h:ﬂ' :“L"‘
(b) _ & (4) Changes the size of text and 43, Which of the following is/are the advantages of

other item on soreen miking

ey N : database management?
il easier for you toread what's

AL Data sharing

on screen
B. FEnhanced datn sccurity
C.  Enforcement of standards
. All of these
I —
| = . 44, Which of the following statements hold true about
{e) [ (i) Personalizing Start menu

data scanning device?

Statement | : They eliminate the need for manual entry
of data by human beings, thus, improving
data gccuracy and limeliness of the data
provessed,

Al (aa), (b, (e)-0ai)
B (ad=(ini) (b)-0ii), (ch-(i)
C. (a1, (b0, (eh-(iii)

[ (a)-dii), (bi-01), (ed={mi .
k), (b (e)-(m) o Statement 2 : Laser printers and touchscreens are

41. A blind person wanis o know the Intest information examples of it.
published in a book as soon as it 1s printed, rather A, Only Statement |
than waiting for the book 1o appear in Braille, this . Only Statement 2
can be done by scanning a recently published book €. Both Swtement | and Statement 2
using a scanner, then convert it into text using the . Meither Statement 1 nor Statement 2
OCR soltware, Now, which of the following software
would be required to read out that text information 43, Wiich of the following is NOT a mobile operating
to the blind person? system?
A, Voice Reproduction System A, Apple iOS
B Speech Synthesizer B.  Novell Netware
C. Speech OCR €. Windows Phone
D.  Flabed Scanner D.  Google Android

/ACHIEVERS SECTION

— | 46. In which of the following manner Assembly 47. ldentify the following lfeature of Windows 7 :

language programming (introduced in 1952)
overcomes the limitations of Machine fanguage
programming?

It makes it easy to share resources (printers,
files, documents) among your computers at

home,

A, By using alpha-numenic codes instead of numeric You no longer need to remember on which computer
codes (that 15 being wsed by machine language)

. : . . ; u stored a batch of pictures. With this feature.
for instructions. For example, using ADD instead :’:“ . . P I Ll'h i
of 1110, SUB instead of 1111. A S MR ENE T It O YO B
search across all computers accompanied together

B. By using decimal codes instead of numeric codes. : .
with this feature,

For example, using 14 instead of 1110, 15 instead

of 1111. = Ivmakes files on other computers as easily accessible
C.  Asscmbly language i1s maching-independent, that as 1f they were on your own computer.

IMEANS you can eéxecule sssembly language program

on many different types of computers with very A. Q B. \

little or practically no elfort of porting it on different

computers, whereas machine language program is
machine dependent. i D. d

D. Al of these

= 15" NCO | Class-10 | Set-B | Lavel 1 | S@F —_— —n—_
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48. Which of the following formulas is CORRECT
if you want to display ®--*--*—%-- in MS-Excel Only Statement 2
20107 Both Statement | and Statoment 2
A.  =REPETITION("*--"4) 0. Neither Statement | nor Statement 2

B. =REPETITION("*""-"4) 50. Compilers are large programs residing permanently
C. =REPT(**-"4) on secondary storage. Armange the following steps in
D. =REPT{"star”, “dash".4) CORRECT order to execute the object program by
- the compiler.

Only Statement |

0=

49, Given dingram shows a Private network in which

Site A and Site B (within the same organization) are Pﬁﬁg;—&mﬂi}m‘ljerl Program
connected to each other by using leased line and the
data transmission between these sites is totally secure (i) To "“f“'!ﬂ'fﬂ source program, a computer loads the
from outsiders. Which of the following statements ‘-‘““‘F"l'-'_' “""-'f the SEMIECE PeogTHn from secondary
hold true regarding this network? SIOrage mio 115 mam memory.

ite & Sie B (i) Il generates the equivalent object program as its

output, which is normally saved in the file on

L 5 l i secondary storage.
| {1i) To execute the program, the computer loads the
- Leased ling object program into main memory from secondary
= storage and executes it
# l (iv) The computer then execute the compiler with the
! | source program as its inpul data.

Statement | : Site A and Site B can be connected to ane A (iv)—» (i) - (i) — ()

leased line by using router at their end, B. [I'I'l —’Illl'l =+ {)—x )

Statement 2 The connection between these two sites C = ) = () = (ni)

behave as a private infernel. D, (i) = (i) = (iv) = (i)
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Guidelines for the Candidate
1, You will gel additional ten minutes to fil Lg}&'ﬂuimﬁnn'ahmﬂ.ymmaﬂon
the: OMR Sheet, befora the starl of the exarn.

2. Write your Name, School Code, Class, Section, Roll No. and
% of marks/grade in last class clearly on the OMR Sheet and do not
forget to sign it

3. The Question Paper comprises three sections;

Logical Reasoning (10 Questions), Computers and Information
Technology (35 Guestions) and Achievers Section (5 Questions)

Each guastion in Achievers Section carmes 3 marks, whareas all olhar
fuestions carry ona mark each,

4. All questions are compulsory. There 18 no negative marking, Use of
calculalor is not permitted.

5, There s only OME corect answer. Choose only ONE option for an
arnswer,

6. To mark your cholce of answers by darkening the circles in the OMR
Sheat, use HB Pencil or Blue / Black ball point pen only. Eg.

Q.16: Which of the following is a type of printer?
A, Cathode Ray Tube B, Light Emitting Diode

G, Thermmal Fatbed D. Uquid Crystal Display

As the comect answer is gption C, you must darken : ;
the circle coresponding {0 option C in the OMR Sheet, 1600 00|

7. Bough work shauld be done in the blank space provided in the booklet.
B. Retum the OMR Sheet to the invigitator at the end of the exam,

9. Please fill in your perscnal details in space on top of this page before
attempting the paper.




Study the following information carefully and answer
the guestion.

'A S B means 'A s wile of B

‘A # B means ‘A is son of B

‘A% ' means "A s father of B

‘A B means 'A s sister of B

Which of the following expressions represent 'T is
brother of H"

A HTHK
B. T*H%K
C.  H#K%T
D, H*K%T

There is a definite relationship between figures (1) and
(2). Establish a similar relationship between Rgures
{3) and (4) by selecting a =vitable figore from the
options that would replace the (?) in Fig. (4).

= Zl 15
A @ || @]
4 o
(1 (2) R]} 4
o [©
A W B | /&
0 o
—— s
c | o D | |&f
o o — |

The house of Reena is to the East of Sumer's house
and the house of Mitali is to the North of Reena's
house, The house of Purnima is to the East of Mitali's
louse. In which direction is Sumer's house with respect
to Pumima’s house?

A, South-West
B. South-East
€, North-East
D.  Norh-West

Among P, Q, R, S and T, (i) R ranks as the second
wealthiest person; (ii) Q is richer than only 8. To
decide the wealthiest among them, which of the
following statements is (are) necessary?

| P is wealthier than (.

2. P, though wealthier than €, is not as weallhy s T.
L Tis wealthier than Q.

4. Wiz wealthier than both I* and 0.

A, Only 2 or only 1 and 3 together
B,  Either 2 alone or | and 3 together
C. Only3

. Either 2 alone or 4 alone

There is a set of three figures X, Y and Z showing a
sequence of folding of a piece of paper. Fig. (Z) shows
the manner in which the folded paper has been cut.
Select a figure which would most closely resembles
the unfolded form of Fig. (Z).

L i
1 N I
X Y
A SO0c B,
| o o ) q

Aoword and number arrangement machine when given

an input line of words and numbers rearranges them

following a particular rule in each step, The following

is an illustration of an input and its rearrangement.

Input  : houndary 25 17 earlier 32 desk party 80

Step-1 @ party boundary 25 17 earlier 32 desk 80

Step-11 : party 17 boundary 25 earlier 32 desk 80

Step-111 ; party 17 earlier boundary 25 32 desk 80

Step=1V - party 17 earlier 25 boundary 32 desk 80

Step-V : party 17 earlier 15 desk boundary 32 80

Step-V1 : party 17 carlier 25 desk 32 boundary 80
and Step VI is the last step.

As per the rules followed in the above steps find which

of the following will be step 1V for the given below

inpuL

Input @ ordinary tight 62 84 35 victory move 28

A, victory 28 35 ordingry move 62 tight 84

B. wvictory 28 tight 35 ordinary 62 84 move

€. wvictory 28 ordinory 35 move tght 62 84

D, victory 28 tight 62 ordinary 84 35 move

Find the missing number, if a centain rule is followed
row-wise or column-wise.

= 3|15
B. 18

64
c. 19 =
D. 24 3[®
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8. Group the given figures into three classes on the bagis word PUSILLANIMOUS using each letter only once,

of their identical properties by using each figure only which of the following will be the second letter of
{ once. that word? If no such word can be formed give "X’
as the answer and if more than one such word can
@ be formed give 2" as the answer,
I 2 3 A. L B. X
DA D & o D #
4 5 [} 10, Three different positions of a dice are shown below,
i Find the number of dots on the face opposite 1o the
| @ fuce having 3 dots.
? E q " - ._' T L] .
A, 1,384,596 7 = K " K e |
B. 1,2,9:3,4, 5678 = = :
C. 1,4,9:2,36:5 7.8 A 4
D. 1,2,%4,58;3.6 7 B, S
9. If it is possible 10 make a meaningful word with C. 6 .
the first, second, third, fifth and tenth letters of the D.  Cannot be determined

11, A computer system is made up of many units and The total time consisting of fetch ¢yele and execution
different connections are used to connect these units, evele is called .
In the given diagram, a single bus is shared by three A.  Instruction cyvele B, Address cycle
units that are 'O unit, Processor and Main memory, ¢, Oceurrence cvele D0 Machine cycle
It the given connection, data transfer can take place
omly between two units at a time and at a time cither 13. (5B3D),, = ( )l | s
processor or IO unit can use the bus, What type of A, 7547523357 B, 75474,31549
s C. 5547523357 D. 5537531549
B
} E ] 14, Given here is an architecture of & mullicore system.
! This architecture is being used in almost all modem
vas _{ i ;

computers to provide multiprocessing capability, Which
of the following statements can be true if one of the
1161 umit Processor Memaory core in a processor gets idle in-such system? (L1 is
local cache and L2 is shared cache)

| A, DMA Connection Pracessor [ Processor 1
P A " Core 2 Core 3
il B.  Mulibus Interconnection | c-::’u"‘ 1l r:: I’ ] [ ;:;I I :;‘U ]
| C. UNIBUS Connection Goadllne -hc] = || ——
. z I I ag
| D.  InvertedBus Connection e - i 8
| 12.  The Control Unit of a computer receives instructions | 1.2 Cache | L2 Cache

| from memory and executes them after decoding them. e
! The ALU of Contral Unit has to perform two functions: Systemn Memory

| fetch the instrsction 1o be execuled and execute the

instruction, as shown in the given diagram. A, The system will get halt and no operation could
= be performed. _
1‘ _ Hxeiate B. Ifone core gets idle then other core will be able
I i ERstn Cjele ()~ |"']:1.-._-1ﬂ5q . to use its local cache only.
5 Y Ty e T e C.  All the shared cache can be utilized by one core
. - (. ——— | +—— EC —> if another gets idle.
[, Both Aand B

e 16 NCO | Class-11 | Set-B | Lavel 1| SWF
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16.

Recognize the machine given
here and select which of
the following statements is
INCORRECT about it?

(1) 1t was designed to
atwtomatically caleulate
and tabulate polynomial
functions,

(i1) 1t was developed by IBM's engineers,

{11} Input to this machine was provided throogh
keyboard.

{iv) It was developed in the 19" century,

A, Only (i)

B.  Both (i) and (i)

€. Both (iit) and (iv)

D.  Only (i), (i) and (iv)

ODbserve the given dingram (regarding C++ dat
variables) and answer the guestion that follow,

Memory Address—e 2350 2351 2352 1353 1354

Drata value of
e — O
Varinhle's nome = A B C

What would be the Ivalue of variable 37
A, 235D B. 2351
C.. &5 D, 2352

Select the CORRECT maich.

A, Firewire port - Transfer large amount of data
among high bandwidth digital
devices.

B, VGA port - Three pin connector found on
routers and modems.

C. PS2 porn = It is also called as printer port,

D. SATA - Senal connector for connecting
scanners and printers,

Identify P, Q and R with the help ol information
given in the diagram, representing encoding schemes
in computer memory.

Chasacter
§ v E—
P Q

: | R’

Mast widely used 7| | An eight bit code {[Itisaworldwide
bil alpha-numeric Mmmmng encoding
code wsed in||for indian senpts||standard nse

microcomputers| | along with letters || for multilingual
and mainframes. uts-d in english || text processing:
4
A, B-UNICODE, Q-ASCII, R-ISCII
B.  P-ASCI, Q-ISCII, R-UNICODE
P-1SCIL Q-UNICODE, R-ASCII

0. P-ASCII, Q-UNICODE, R-ISCII

)

19,

-

A utility program thai combines several separately
compiled modules into one and resolves any internal
difference between them and combines them into
single executable file 15 called as

.| Executable
program

A, Compiler B.
C.  Debugger 1.

Linker
Interpreter

Which of the following 1s NOT & way to enter texi

in a SmartAn graphic in M5-Word 20107

A, Click in the SmartArt Item and start typing,

B. Click the E
enter text in Text Pane.

C. Select the graphic and press FI key and type
text.

D. Click on Text Pane in Create Graphic group of
Design tab and then type text in Text Panc.

al the left end of the diagram and

Tdentify the following :

— I 15 a solid state device,
It is capable of performing anthmetic operations.
It 1s capable of performing logical operations.

Which among the following is a circuit board installed
in a computer that contains the electronic circuitry
required to connect to the Internet?

A, Router B. Hub

C. NIC D,  Bridge

23.

A computer receives data and instruction in binary
form. Duua is received from input devices or from
memory and then flows 1o the processor through a
data bus and placed in a *'Special register’ which is
the destination of all data. The flow of data in the
CPU is illustrated in the given diagram. In which of
the following types of register the data received from

data bus is placed?
CPU | Specinl register

L)
Iﬁcgiﬂws] | ALU |

Q‘Cumi Unit!

A, Program counter

Index register

B
C. Accumulator
. Address register

SUF | 1687 NCO | Class-11 | Set-B | Level 1 s



24,  Idemify the following : 29.  Which of the following is a wireless technology that
can be used by a digital wallet service to make secure

It is o type of non-volatile primary memory, i
IP B i and fast payments through mobile?

lis contents are programmed by the integrated

eircuit manufaciurer and permanently recorded A. FIF 3 \'l:FEP
by metallization process. o €. FCN o D: WFE

= It is mostly used for storing the finalized code 30. Which of the following statements hold true about
of a project. the given icon with respect to MS-Ward 20107

A, Masked ROM B. PROM b

C. RAM 3.  EPROM %

Statement 1 : It is used to insert information

25. Match the following : about a source (book, article) in the

Column-l Column-11 document,
(a) (i) A place in computer in Statement 2 | Information added through this feature
which operating system gets inserted into the footer area of a

is londed temporarily after document.

the computer is started. Only Statement 1

A,
s {oid stabl _ B. Only Statement 2
b} (1) Arigid stable mass storuge €. Both Statement | and Statement 2
D

device. Meither Statement | nor Statement 2
(©) @ () Winting ddta ot inesited 31, Which of the following is the CORRECT HTML code,
burning. to start the list item from number 10 in an ordered
AL o) - (i), (b - i, (o) - (i) list?
B. (a)- (i), (b) - (iii), (e) - (i) A, =pl> <li value = "10" >NCO</li> </ol>
. (a) - i) ib)-0d  led - i) B. <livalue = "10"> NCO</li>
D, (a) - (iii), (b} - (i1}, {c)- (1) C. =<ol> <li number = "10" >=NCO</li>= </gl=

; : D. <l number = "10" >NCO=</li>
26, Which of the following types of FTP server allows

gencral public to access files without an account or 32. You have created a document in MS-Word 2010.vou
a special password? need to share it with your friends and for that you want

) shall not be allowed to edit or format some specific
C. _'a'*“"“?m“"s FTP  D.  Auto FTP part of it. Which of the following options can be used
to do so?

‘ A Archive FTP B, Common FTP vour friends can see the contents of the document, but,
|

27. Which of the following functions when applied to a
| cell for the given data, will result in #VALUE! ervor

] in MS-Excel 20107 A % %
_—1 0 ) L o W C. ../? D, ﬁ
P Cuantity Rate —
! a*ﬁ i‘: i j'x 33, What would be the output of following HTML
s : statement?
£ <p=>He said: <g=where are you going=/g=</p>
A, =HCF(B2,B3) A, He said: where are you going?
B. =SUM({Al:B3) B.  He said: "where are you going"
C. =B2BI €. He said: “where are vou going"
D. =PROPER(LEFT(A2,2)) 3. He said: where are you going)
28, Which of the following virus infects exceutable files 34, Which of the following statements is INCORRECT
such that when an infected file gets executed, itinfects about <tbody> tag in HTML?
all other executable files in the current directory and the A. 1t is a container element,
text strings like “programs oo big to fit in memory”, B. It can only be used inside <head>....</head>
“* exe *com” were found in infected files? Tags,
. C. Some of its auribute are align, valign. char,
A Aad B. CIH &lc:
.,  Commwarrior D, Bomber D. MNone of these

_ 16" NCQ | Class-11 | Set-B | Level 1 |5?F#
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36,

3

38,

19,

M I—

In an elecironic mail system, a special software
package is used that lets the user of an c-mail service
to perform various tasks, for e.g. it may help a user
to compose an e-mail by providing a template on the
screen to be filled in by the user. The vanious services
of this soflware is shown in the diagram given here.
What is the name of this program?

Services
L’om;omng Rm:iing Rrplylin.gm Forvar Humil:‘ng
messapes || messages|| messapes || messages || messages

A, Message Transfer Agent
B. Message Access Agent
C. User Agent

D, MIME

What would be the output of following C++ code?
void main()

|

int a,b=10;

ifi(a=b=1)y=1)

cout<aec" " ah;

]

A, 1000 B. 1:
C. 00 D, 100

What would be result of following formula for the
given data in M3-Excel 20107

A, 97000 B.
C. 134000 B,

GRO0O
#REF!

Which of the following statements hold true about
Denial of Service attack?

Statement | : Itisatype of cyber threat which makes
a machine or resources on a network
unavailable to its users,

Statement 2 : It increases the traffic on targeted
system either by sending bulk e-mail
messages or by sending over-sized data
packets.

Only Statement |

Only Statement 2

Both Siatement | and Statement 2

. Neither Statement | nor Statement 2

10

When we plug-in any USB device 1o a system
running Windows 7 operating system then Windows
automatically identify the plugged device and install
the driver for it and display the progress in the pop-

up message i the notification area as shown in the
given image. How this auto installation of driver takes
place in Windows 77

m Installing device driver software % X
Click hera for statis.

A Windows read the plug and play identification
tag in the hardware™s BIOS or firmware and then
matches it with master list of taps drawn from
setup information file and then install the correct
driver,

B, Userinstalls a list of plug and play identification
tag into the system and then Windows compare
the plugged in device identification tag with
installed list and then install the driver.

C.  The plug and play identification tag of installed
deviee is read fram the motherboard of the svstem
and then the associated driver is installed by the
Windows.

D. None of these

40,

41.

42,

43

Which of the following statements is CORRECT
gbout the given component of Windows operating

svstemn?

(1) It notifies and blocks the malware that try to
install themselves.

(ii} It automatically scans a system for installed
malware on regular basis,

{iny It regularly checks for software and hardware
updates.

A, Only (i) B.

C. Both (i) and (ii)

Only (iii)
0. Both (i) and (iii)

How many bytes would be required to store a 2D
array of double datn type in C++, if it consists of 9
rows and 5 columns?

A 360 B, 3

C. 180 D. 240

Which of the following options is used for sending a
request to gain control of the novice's desktop during a
Windows Remotle Assistance session in Windows 77

AR B. ¥
¢ Q 0

Select the odd one out,
. @

A. G O
- B >
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44,

You hdave inserted a table in a document and then

clicked on = icon and selecied commas options

in *Convert Table To Text' dialog box. How would the
wiven lable be displayed now in MS-Word 20107

Name Class | Marks
Bhawna VIl "o
Sarika Vil L

Name Class Marks
C.  Bhawna, VII, 89
Sarika, VII, B8
Name Class  Marks
D. Bhawna VII 50
Sarka Vil a8

45. What would be the signed magnitude form of -25

A, Table would not be converted to text as there are
no commas in table data.
Name, Class, Marks

B.  Bhawna, VII, 89
Sarika, VII, 88

in & bit?
Ao 00011001 B. 10011001
C. oot D, 11100111

46.

16" NCO | Class-11 | Set-B | Level 1 | SOF

47.

RAM s the main memory of a computer. Communication
between RAM and its architecture is achieved through
data input and output lines, address lines and control
lines, that specify the direction of transfer. 1f n input
lines are supplied to a memory unil which has &
address lines as shown in the given block diagram
then how many bits per word would be available?

1 data inpul lines

!

Memory
Limat

|

n data Output lines

A.  2bits B. I bits
C. nbits D, &k=nbits

& address lings —»

read —*

wrile —#

Remove duplicates is a feature in MS-Excel 2010
that let you delete duplicate rows lrom a worksheet,
In the given snapshot, from the selected cell range,
two data headers have been unchecked. How would
the remove duplicate feature work when Ok button
will be clicked?

b el R i | e ks B ek

o [

A, Only the columns which have been checked would
be checked for duplicate values and a record
would be deleted il any duplicates are found.

B. Only the columns which have been checked
would be checked for duplicate values and only
the cells containing the duplicate values would
be deleted.

C. Only the columns which have not been checked
would be checked for duplicate values and a
record would be deleted if any duplicates are
found,

D.  Only the columns which have not been checked
would be chocked for duplicate values and only
the cells containing the duplicate values would
be deleted.

48.  The operating system of a computer is most important

program. It also acis as a processor management and
implements various scheduling technigues to decide
which process among the various should be passed
on the processor. One such technigue is shown i the
given dingram. Identily it,

end

Selects jobs t run
that ane residing Lo Jevel schpduler
i min meTery
Swrap-in the
G D 0 0 0|, [ocesiha
= have it nin :
for & long nene :
High-level E
sehadisl o
Memory |
Swap-oul the process

{hat have run for a long fime
Multilevel quete
Two level scheduling

Real time scheduling
Cuaranteed scheduling

oo E >




49, Given here is o code snippet written in C++, which <li=8yne center</li>

contuin some syntactical error, Identify the line number <fid>
which has an error. <ld=
<li=<ins=>Folder option</ins></li>
?“'“ ek e <Ii>Default settings</li>

<fid=
Line | char title[15]; e
Line 2 char rec_type; <(lable>
Line 3 int price=150; * Folder opticn
Line 4 jrec datn; A o Syne center * Default settings
A. Linel B. Line2 ‘
€. Line3d D, Line 4 N i i TN s

o _ ©* Sync center ¢ Default settings
: i tput of given HTML code.
50.  Predict the output of given * Autoplay  * Folder option

<table> € . .
o Sync center = Default settings
s D, " Autoplay * Folder option
<liz<del>Autoplay</del></1i= * Sync center * Default settings
| SPACE FOR ROUGH WORK
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. Aword and number arrangement machine when given
an input line of words and numbers rearranges them
following a particular rule in cach step, The following
is an illustration of input and rearrangement.

Input  : joy far 35 27 16 96 height star

Step-1  : 96 joy far 35 27 16 height star

Step-11 - 96 far joy 35 27 16 height star

Step-111 : 96 far 35 joy 27 16 height star

Step-1V : 96 far 35 height joy 27 16 star

Step-V  : 96 far 33 height 27 joy 16 star

And step V is the last step of the rearrangement.
As per the rules followed in the above steps, which
slep s the last step for the following input.

Input : organize 19 12 stable room 35 72 house

A Fifth B. Sixth
C.  Seventh D. Fourth

Pl

Selecta figure from the options, which will continue the
same scries as established by the Problem Figures,

Problem Figures
[f—
—
I —
A — [} I
c i B. |l

3. In the given diagram, the triangle represents female
graduates, small circle represents self-employed
females and the big circle represents females with
bank loan facility.

How many self-emploved female graduates are with
bank loan [eility?

A5
B. 7
c. iz
o, 20

4. Select the option which most closely resembles the
water image of Fig. (X).

Fig. (X)

If each symbol is replaced with a letter and each
number is replaced with a new symbol, then how many
letters will be there in the given below series?
BAI21F*3+67CLMBO9E® 14D 41
®18A

A, 27 H. 16

L . D. 8§

Study the following information carefully.
(i) P = means P is father of Q.

(i) P — Q means 'P 1s sister of ',

{ti1) "P+ Q) means 'P is mother of ),

{iv) P+ Q' means 'P is brother of (.
Which of the following represents 'J is son of F*?
A, J+R-TxF B. J+R-Tx«F
C. J=M-N+F D. None of these

Which of the following options satisfies the same
conditions of placement of the dots as in Fig. (X)?

O

L:P

In the following question, two rows of numbers are
given. The resultant number in each row is to be
worked out separately based on the following rules
and the guestion below the rows of numbers is to be
answered. The operation of numbers progress from
left 1o right.

Rules:

(i) Ifan odd number is followed by another compasite
odd number, they are to be added.

(i) ITan even number is followed by an odd number,
they are to be added.

(i) Ifan even number is followed by a number which

is the perfect square, the even number is to be
subtracted from the perfect square,

SUF| 16" NCO | Class-12 | Sel-B | Lavel 1 s



{iv) IF an odd number is followed by a prime odd
number, the first number is 1 be divided by the
second number.

(v} IFan odd number is followed by an even number,
the second number is 10 be subtracted from the
first number,

W oIs 3
12 3 &

If o is the resultant of the first row, what will be the

resultant of the second row?

Ao 1547 B R
c. 137 D, as

Study the following information carefully and answer
the question given below.

"A* B means "A multiplied by B'.

'A & B' means 'A minus B,

‘A S B means 'A plus B

'AE B means "A divided by B,

If 6 lemons cost T 5, how many lemons can be bought
with T1007

10,

A, 6*5#100 R
C. 100S6#S 0.

100 * 6 8 5
6*100@ 5

Find the option which will complete the given figure
matrix.

- |O®

2 ggg D.

11.  Whenever you give a command to print a page or range
of pages then some steps take place in background
in the time interval, when yvou give o command and
the printer prints the page. Those steps are iHusirated
below.

The bits The T
Primt cotmespotubing generidid bitivaup b
the documicnt | | bl inlerproted
commmiand :: b:mﬂnl B ||.1TII:|:L|:1Ij A ;;,- a =+ Printet
I8 given _’lmumldﬂd transfemed o] | procesor prints the
1o 5 Bitmap compiter's inside the document
approprals for IBETNTY. prineer.
he selected
primter.,
Slep Seep 2 Siep

13

Which of the following performs the steps given in
Step | of the given diagram?
A, Printer Spooler B.
C.  Print Queue B

Printer Briver
None of these

DRAM is o kind of random aceess memory which
is most commonly used as main memory in various
microcomputer used now-a-days. Which among the
following is a kind of dynamic RAM that is synchronized
with the clock speed of the microprocessor?

A, FPM DRAM B. SDRAM
C. EDD RAM D, ¢DRAM

In & process state diagram of a time sharing system
when 8 process goes to terminated state from running
state then it means that

A, Process has moved oul of main memory
B. The process gets allocated 1o CPU

C.  Process is selected for execution

D.  None of these

14,

Identify the following :

— Ivwas [BM's fitst commercial scientific computer.
It was known as Defense Caleulator,

~ It was based on Von-Neumann machine.

A, BEDSAC B. IBM-T

C. UNIVAC I D.  IBM-650

Which of the following statements is CORRECT
about dot matnx printers?

Statement | : They are also called serial printers and
they make a direet contact with the
paper being printed,

: Dot matrix printers with 24 pins could
print near leter quality type prints,

A, Only Statement |

B, Only Statement 2

C. Both Statement 1 and Statement 2

D, Neither Statement | nor Statement 2

Statement 2
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33.

34,

35.

36

—

What would be the output of following HTML
code?

<tahle box="true">

L

<th=Working Days</th=
<th=Letives Taken</th>
<fir>

==

<pd=25</ud>
<pl=2</ud>

<ftpe

</tuble>

A Working Days Leaves Taken
25 2

B.  Working Days Leaves Tuken

25 2
C.  Working Days Leaves Taken
25 2

D Working Days [Leaves Taken
25 2

The Input/Output device management module of
an operating system contrals all VO devices, keeps
tracks of /O requests and transfers data to and from
1/0y devices. It uses different methods (o send data
from input/output devices 10 memory via CPU. Which
among these methods move data directly between main
memory and the /O device without any intervention
from CPU?

Ao Programmed 1O

B. Interrupt Initiated /O

C.  Direct Memory Access

D, Both A and B

Proprietary software is the software, which is neither
open nor freely available, Which among the following

is a proprictary software?
B, |Mﬂb&
ltustrator

c @ D. A

Predict the output of following C+ program,

fiinclude<iostream.h=
vaid maing)
{
int-a= 60, b=13, nl;
nl=akh;
cout<<"Outputing="<<a<<" h="<<h=<<" pl="<=nl;
h

AL Output g=60 b=13 nl= 780

B, Ourpul
a=60 b=13 nl=T780
. Cutpul
2=060 b=13 ni=|2
D.  Output a=60 b=13 nl=47

37, Computer virus are hazardous programs that cause
damage to a computer system. To prevent a computer
from a virus infection, antivires program is used,
but some virus use a special technique o prevent its
detection from sn antivirus program, it intercept the
anitivirus software before getting detected by it. Such
virtis are called VIFUs.

A, Clustering B.
€. Polymorphic

Resident
D, Tunneling

38, Which of the following operations does NOT come
i the DDL part of SQL?

A, Creation of table B.
. Creation of views D,

Renaming an object
Deletion of data

39, Aprogram written in high level language can be executed
on any maching if it has a compatible compiler and the
gencrated output of different machines would be same
as shown in the given diagram. Which characteristic
of high level lanpusge is described here?

Y Machine code for

Execuled on
Pl for compuicr A

Computer A 1

Same resulis

PFrogrum U in high level lomgimpe LI

Compiler for

Machine code for Execcuted on
longuapge |
s fnn'qnlljr B B far camper i = Compater B
A, Bug lrec

B. Easyto learn
C.  Hardware/architecture independence
D.  Symax free

40, Which of the following apps uses natural language
user imterfuce and speech recognition technologies
to accomplish its tasks?

A o B, N/

5 .ﬁﬁ
Q0 &
41, 15 & workstation or PC without disk drives,

that nses network booting to load its operating system
from a server.

A, Thick client B.
C.  Hard node D.

Miskless node
Sofidisk node
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42, Muareh the following terms in Column-1 with their
deseriptions mn Columm-11.
Column-1 Column-11
(0} Gopher (i) Multimedia files that contnins links
to images or other multimedia
documents.
(b} NNTP (i) MNewsgroup that are organized in
a hierarchical structure,
(1} Text and bipary files organized in
A menu structure,
(ak-Ciit), (b)-(i),  (c)(ii)
(a)-(iii), (b)(iid,  (ed-(i)
ta)-(in), (h)-(ini), (e)-(i)
(ay-(i).  (b)-Gii),  (C)-tiii)

(¢c) HTTP

SnNn=e

43, Which of the following computing device can be both
wireless and mobile?

A. PDA I
. Deskiop computer 1,

Smartphong
Both A and B

44, Whenever a progrom crashes or hangs, a dialog
box similar to one shown here gets displayed in my
system. | want that the dialog box shall also display
an option 1o check solution of this issue using an
online service. Which of the lollowing options of
Control Panel should | choose 1o change this setling
in Windows 77

46. An HTML code and its corresponding output are
shown here.
Line | <select>
Line 2 <option value="Delhi">Delhi</optian=
Line 3 <opption value="Gurugram"=>Gurugram

<loption=

Ling 4 <option value="Noida">Noida</option>
Line 5 </sclect>
Output of above code ; |Delhi v |
You want that instead of Delhi, Noida shall be
displayed first in the drop-down list and hence you
need to modify the code given in Line 4. Which of
the following change shall be made to the code?

A.  <option value="Noida" selected>Noids
"-'J'Df.'lliﬂ-ﬂ'-"

B.  <option value="Noida" defiult="s¢lected">Noida
</option=

. <option value="Noida" checked>Noida
</oplion=

. <option value="Noida" set="{irst">Nolda
<loption=

47. 1 want to filter 4 dala range in a worksheet using
Advanced filter option and want to copy the result 1o
a different worksheet of the same workhook and 1o
do so | was instructed to perform following steps,

16" NCO | Class-12 | Set-B | Lavel 1 | SOF

e R
ij Applicationaso has stopped working

# bt ciated the progeam bn dop warnng
rmr-l“‘[. Paae rioam the PrgEm.

| + Chosee the progiaii

A, :.:.E H.- .r
@

The diagram given here shows o cable layout for
connecting computers of four buildings. In which
of the four buildings, computers can be connected
without placing any hub or switch berween them?

Building 2 35 Metres  Building 4
(8 Computers) {2 Compuiers)
Building | 45 Memss Building 3
(20 Computers) {15 Computers)
A, Building | B. Building 2
C.  Building 3 0. Building 4

(i) Select the sheet which contains data.

(i) Click on *Advanced’ option in the Data tab,

{iti) Select the Copy 1o another location option in
‘Advanced Filter” dialog box.

{iv) Specify the data range and criteria range in
*Advanced Filter' dialog box.

(v} Select the sheet in which filtered data needs to
be copied.

{vi) Specify the destination sheet range in the ‘Copy
to' figld of Advanced Filter dialog box.

After performing these steps, | clicked on OK button

and then the following message box got displayed,

‘ o o ity gy o et e B cen daet.

[

i 1 it bk

Performing the given steps in 4 re-arranged
order will solve this issue. Which of the following
options is the CORRECT order of steps 1o do so in
MS-Exeel 20107

A (i)=(i=livi—=il—= (v =2 (vi)

B, (ij={vi)=(iy—= (i —(vi=liv)

C. (=0l —=(iv)={v)=vi)

Do (=)= =)= (iv)—+vi)




48.  Ethernet card is an electronme device that is used {or B. Select * from Emp detaal
connecting a computer to a computer network. It where
supports three types of connection that are; RJ-45, DOJ between "14-Jan-2013' AND
AUT and BNC Lnl|l!|.1.r|n.1| What 15 the full |I:'|||II -..11 31-Mar 2016"
AUIL and which types of cable can be used for this . e
i * . Select * from Emp deta)
conmection
where

DOJ after *1 3-Jan-2013" AND before
T-Apr-2016°

A Attachment Unit Interface and it can be used for
attaching coaxial, fiber or twisted pair cable.
B. Advance User Interface and it can be used for

attaching coaxial cable D, Select * from Emp detail
{ Automatie Unit Identity and 11 can be wsed for where
attaching coaxial, fiber or twisted pair cable DOJ IS Either "14-Jan-2013" OR '31-May
. 9 LR
D.  Automatic Unit Idemtity and it can be used fol 2016%

attaching fiber cable ' .
attaching fiber cable 50. Which of the following Boolean expression is

49, A table named Emp detail has five fields © emp_id, represented with the help of given circuit diagram?

e pame, desg, DOJ and DOB. Which of the following X _HL
SOL query will display the details of all those employees £ e
who have joined the organisation afier 13-Jan-2003 _ | -
but before L-Apr- 2016 from the Emp detail 1able? 1l‘__[‘ \:[u—"\_ | L~
A, Select * from Emp detail = =

where e R

i . . , A, XYHZ B, X+YZ
DO) between '14-Jan-2013" - "31-Mar-2016";

C. (X+Y).Z D. (X+Z)(Y4Z)
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ANSWER SHEE]
14" National Cyber Olympiad

o A U Fiiling of all columns completely & accl.ll‘atﬂljl' Is compulsory - srm:
1mmm e ————
J‘D HJIHH_HH_I_._.H_H
3_ NAME s mmu. OhLY) . iy s
L_J;L_J__l [ ] I EESE BEREPSEENEEESEE
3.SCHOOLCODE | 4 SROLLNO. | |* BWdss ™| 7.oatEOFmRTH || 8
; f%“@"@ e T e k)
‘S @], @31 l@J L@% E 9 ||@® fﬁ:lj ]@ @u@l“] CSEL
® @ U O 0 O @ ® O 8@@ ®|00 060 Qeae|[ |
© © % QB @ @ ® 0@ B T EeE®
© ©@ @ ® % ® ® @ Qe B @ 0 ||[ano
E ® @ ® @ @ (@ @ @||o@E @& (@) ® O0[0)]
B & 60 @ B @ ®6E ® 6|eeE @ ® ® GEE |[BLEO
G @ (6 @& ® @ @(E ® 6||6EGeE G ® ® ololo]
H & @ ® 6O @ @O © O OU@ (H) @ @ OO (e O
0 @ 60 ® ® (8) ® @||Eeee O ® ® ®E®
Q @ ® O ® ®||6E ® O @@J@} Gl ® ©® eLE D
® ® el L. - e
| —m—————s
E% 1| | 10 MARK YOUR ANSWERS WITH HB PENCIL | BALL POINT PEN (BLUE | BLACK)
%%|"|@@@ 19| B 6 © O THIS COLUMN IS FOR
@ ®|2/® ®@ © ® 2 ® ® © @ CLASSES 5 & ABOVE
®)
(CE:.‘Ijb 3| @ © O 2 | & © O B|® ® © ©
L)
%?4@'@@@ 2| ® ® © @ M| ® ®B 0 ©
v ®
@fg@ 5| & @ © O 2|0 6B @ O 8| O @ © ©®
%)
%{@} 6| ® ® @ ©® U ® 6® @ ® @ B © @
Fd
— 7| ® © @ 3| B 6 0 © 0 ® ® © @
B ® ® @ ® 2| @ ® @ ® 4§ | @& & o o
MECO| | 0| ® @B ©' 0 W @ 9 O 2l ® ® © O
MAECY| 0| ®@ ® @ ® 8| ® @ © © Qe 6 © b
= 1"H|@®@ @@ © O ‘B ® @ © O Ml ® @ @ @
2| ® @ ©@ ® 0 A @ © ©® %@ @ @ O
Bn|l®w e 0 © M| ® 66 C© @ %o ® ® ©@ @
“H ® @ @ ® 2 ® @ © © | ® 6@ O .
1$5 |0 @ @ © 88| @™ © © 8| ® 0 @ ®
6| ® ® ® ® | ® ® © O o ® ® @ WO
7| ® & @ © B ® B © O 0|l ® ® © @
(18| @ ® @ @
Sianatlure af tha Candidate & Dote of Examination ‘ Sianature of the Inviailator




* ANSWER SHEETS WITHOUT SIGNATURE AND ADDRESS MAY BE REJECTED. IN CASE, STUDENT DOES NOT KNOW
THE HOME ADDRESS, TEACHER SHOULD MAKE SURE THAT INFORMATION IS DULY FILLED FROM SCHDOL RECORDS.

E-mall Address (In Capital Lettars)

SIDE-2

INSTRUCTIONS FOR USING THE ANSWER SHEET

1. MAME : If your name is SACHIT A. IYER, then you should write as follows:

SIAICIHI|T A I Y|E|R

2. PARENT'S NAME : If your parant’'s name s SATISH KUMAR IYER, then you should write as follows,

SIAIT|I|S|H KIUMAIR I Y|E|R

SCHODL CODE + CLABS + ROLL marks your complete 11 diglt roll no

3. SCHOOL CODE 4. CLASS 5 ROLL NO. T. DATE OF BIRTH B, GUESTION

Wirite your school code Le. M you are In Hmrulm tsm If your Diale of Binh ks 23-07-1907, PAPER SET

if schoal code B “:E'dm “"Jﬁ #mdrd then you should wrile and darken W your Set M B,
Bﬂ 5] r

: ?darhmmhm R il

then darken MALE eirels,

ZE8E2E08e0Ea0E00eBD0aEE

&

<T | s ||

10. If your cholee for Answer 1 is C, then you should darken the circle as follows @

11. Wrong Methods :

TR ... 0, oo

CORRECT
WAY TO DARKEN C== I
THE CIRCLE




MINSVYEMN SMeei

SQ F 13" National Cyber Olympiad SIDE-1

Filling of all columns completely & accurately Is compulsory ™ "

mmmid i by

1.1:_.9_H_nn._v.ﬂ_5 NAME pgsmm_:mmupqrqu.r__ ot o e @
‘2 FA!HEL!’! I|IA.IIIIE uLnuLcummrm b oMLY} |

L Il r v

e LET, umﬁ- T 8
3. SCHOOL CODE 4, cuss” 5. ROLL NO. fﬂ-’-‘u 7 DATE OF BIRTH -

I.— — | - -j | [ = I PII'ITJIIH OR Grade | HUEET”H:
T U L] LHC [ | O [

m ® © @ |u__, GlE @G ® O/ ® -'ﬁ__rg ©)(0) rp_|- (o) (o BET
I -;ﬁj (@ (0 @ ) @||Q) , L'D (1) i_‘,] L)f*"“_ (&) M MOmH MG |
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Signature of the Candidate & Date of Examination | Signature of the Invigllator



% ANSWER SHEETS WITHOUT SIGNATURE AND ADDRESS MAY BE REJECTED, IN CASE, STUDENT DOES NOT KNow /OB

THE HOME ADDRESS, TEACHER SHOULD MAKE SURE THAT INFORMATION 1S DULY FILLED FROM SCHOOL RECORDS.
®
|

PIN Cods  PHONE (with STD Code) : MOBILE S
RN EEE RN NS NENEEEENSN
E-mall Address {in Capltsl Laters) - = R——
NHEEENNEENENNESERUANENRNE N [ ]

® ®

SalcinilixY] JAl JUYIEIR

2. FATHER'S NAME : Il your father's name is SATISH KUMAR IYER, then you should wrile as follows.

S|IA|T|I|SH KIUMA|R I|[Y|E|R
SCHOOL CODE + CLASS + ROLL marks your complete 11 digit roll no.
3. SCHOOL CODE 4. CLASS 5, ROLL NO, 1. DATE OF BIRTH B. QUESTION
White your school coda L. If you are In Il your ol no. |s 587, I your Date al Birtkh is 23-07-1957, PAPER SET
if your school code s Clarss 10, e :‘ﬂlaé'l ﬂxﬁm Mﬂmmﬂnmum m::ﬂl»:&
MHOS4T darken as follows: mm"m“ SPSOOlc 4:-veson thue carclos ma Lt e e
T | -2 e
e
————— @ [0} @ !
1511018 : |
B LE) A
D oo e o 5 & 3 <]
© L (E @ @ P
s8283 || ¢ g
3 % @ |-@ & S e
o060l o N 0 ¢ e
8 | ® °|® —
] Darken @ ol
w0 the circte
% 8. GEMDER Darkan
@ I you anm o oy, the circle
% Irsiens chatkoen MALE circle.
OR
@1 | wae @ FEMALE O
@ <1 | CoETG |
&

10. If your choice for Answer 1 is G, then you should darken the circle as follows : lTI_@"_’ ! {;II
Dasken the circle

. WrongMethods:  1.| @ (@ @ ©

(E&Eﬂcr -
WAY TO DARKEN C=
__THE CIRCLE :




